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lac i q
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isz ¢q
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tad hexp

€ dac aexp
lac ans
lmng
[¢] lac ams
_sna €11
imp 2%
1ls 1
' dac 3f
dac Wf
lacyg
dac 1f
lac hls
img
lac hms
sna cll
imp 2fF
; 1ls 1 , , o ] - 4
dac hms
lacgqg
dac hls
lac hms
mul
110
dac ans
lacgqg
dac ce10
lac hls
mul
210
dac ams
lacqg
tad ce10
glk
dzm cef0
tad ans -
szl cll
isz ce10
tad ans
8zl cll
isz cefd

«
__dac ans 1 L LT 7
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dac ams
@ lacgqg
____tad ans
¢ 8z]1 cll
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€

1‘.,‘.

4 lmg
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tad ams
sma

imp 5S¢

18z aexp

nep

lrs 1
Sixor rsign

dac ams
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dac ans
jmp i q
2:4zm aexp
dzn ams
dzm ans

dmp L ¢
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qt0
fdy = jms q
lac i g
gary
_482 9 o

.0.0.00..

lac hms
sna

SY§ save
Yi,‘_q?':— .
Ase 2f

tad hexp

cma 25042
tad aexp U7/
dac aexp |

AC ans
ac ams’

sna SII

jnp 8¢
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szl

BYS Save L
dac ce10. 5L
lacg

dac 5¢

iac Cefd
frddy —

S§Y8 save
J.lcq r
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aac ceil
lac hils
and 0377777
frddy

k:0

szl

8¥8s save
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spa
isz
skp
isz
lac
1mg
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sna
imp
gma
tad
Btl
tad
img
szl
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6tlac
sma
tad d1
tad
Ema
imp
7 a1

isz

nop
7txor

dac
__lacq

3b

2b
cell

3b
6f
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cell

dac
imp
gidzm
dzm
imp

qi0
fad = jmsg q
lac i q
garg
isz q
__lac hns
sha
imp Hf
lac ams
gna
imp 8f
aexp

cma
tad
sma
jmp

hexp
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dac
tad
spa

ce10
a3k
cla

Jmp
lac
cma
tad
xor
dac

0t
ce10

a1
0640500
1£

lac
img
lac
cil
1tlrs
dac

hls
hms

0
hms

dac
lac
sma
Jmp
lac

lacq

hls
rsign

of
hls

cil
tad
dac
lac
szl
tad

2tlac
rer
dac
lac
rar

cma
a1
hils
hms
cma
a1

dac hms

ams
ans

cll
tad
dac
glik
tad
tad

hls
ans

amns
hms

dac
sma
Jmp
lac
cma
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d1
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cma
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dac

fno

aexp

asign
ok00000
rsien
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Xor
dac
Imp
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rsian
ams
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Xor asign

dac asign
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and 0200000
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cma
tad aexp
dac aexp

imp 4 q
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fcp = jms ¢
lac { ¢q
garg
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spa
jmp

rsign
1£
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dac
Xor
dac
sna
imp

asiagn
ams

2f
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sna
jmp
lac
cma
tad

hms
cma
3f
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a1

tad
sza
mp
2tlac
cma
3itad

bt
hms

a1

tad
sza
mp
lac
cma
tad

5¢
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hls

a1

tad
sza
bixor
imp
1ilac
xor

asign
igq
ams
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ims q
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asign
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sfmp = 3ims g
lac 1 q
garg
isz q
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tad aexp
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lac ams
sna rcl
imp 2f
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lac hms
sna rcl
jmp
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sma

imp 1f
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xor rsign
“dac ams

i8z aexp

jmp 1 q

imp 4 q

13
xor rsign
dac ams
jmp 4 a

23
dzm aexp
dzm ams

i i g

gt 0

sfdv = 4ms q
lac i ¢q
garg

d1
aexp
hms
ral cll
save
1£
ams
frdiv; 13 0
szl
SYS save
lacq
spa
smp 1f£
xor rsign
dac ams
imp 1 «q
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sma
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dac hms
lac ams

sma
mp 1£
xor 0377777

tad d1

irss 1

dac ams
l1ac hexp
cma

tad aexp
tad 41
sma

imp V£
cma

tad 41
dac tmp
lac ams
img

1ac hms
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1ac Emp
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tad
cll
qmp
isz
nop
rar

a1
sma
1f
aexp
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norm 18
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rsign
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tad
cma
tad
dac
jmp

omb60

aexp :
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dzm
dazm
jmp
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ams |
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sma
imp
cma
tad
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dac
imp
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8
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imp 1
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q: 0

f£ng = ims ¢q

lac
sza
xor
dac

ok00000
ams

jmp

qt 0

i4q

fix = jms q

lac
spa

aexp
sna

imp
tad
sma
jmp
cma
tad

1f
dm18

3f
0660500

dac
lac
sma
jmp
xXor
tad

2f
ams
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0377777

a1
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imp
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iaq

irss 18
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0400001

0377777

jmp
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iq
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dac
dzm
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Imp
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tad om56
cma
dac aexp
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lac tmp
and o400000
Xor ams
dac ams
jmp 1 q

tmp: O

stmp: 0

cel0: 0

__asign: 0

aexp: 0

ams: O

anst 0

hexp: 0

hmsi O

hls: 0

q: O

sin = jms q
lac ams
and ol400000
dac 8ign
lac ams
and 0377777
dac ams
st} ftmp1
fdv; £fpd
fix
dac stmp
and 41
sna
imp 1£
lac od400000
Xor siagn
dac 8sigh

1:
lac stmp
£lt
fmp; fpd
fng
tad; ftmp"
£st; strm
£st; sres
£st; femp2
£ld; £p1
fst; sfac
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5 dac scnt

bsin:
£ld; sfac
fad; £p1
£tst; ftmpfl
fad; fp1
£st; sfac
£ld; strm




fmp; ftmp2
fmp; ftop2
fdv; sfac

£dv; femp1

£st; strm
fad; sres
£st; sres
isz scnt

imp 1b

lac ams
xor sign
dac ams
imp L «q

sqrt = ims g

lac aexp
tad 41
1lss 0
rar

dac aexp
lac ans

img

lac ams

spa

SYs save

dac 1£
snl

imp 5¢
ils 1
dac ams
lacqg
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lac 1¢

sna

dmp q &
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xor 0200000
Xor ok0000Q0
dac 1¢f
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frdiv; 13,5
szl
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lacqg

tad 1b

rar

cll
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frdiv; 23,,
szl

clg

lacg

tad 2p
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dac 3f
dac &f
lac ans




1maq
lac ams

cll

div;, 3%,
szl

clg ecla
dac 1b
lacgqg

tad 3b

clg 1rs 1
cll

irs 1

dac ams
lacyq

dac 2b

lac 1b
frdiv; 41,,
szl

Sys save
lacgq

irs 2

tad 2b
dac ans
jmp q §

sfac?! 03030
ftmp1: 03050

ftmp2t U;0;0
strm: 03030
scnt! 0O
sres: 03030
rsign: 0
sign: O
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0200000
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0640500
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06605223
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o400001;
dmi: =1
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0400001
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fpid2: 1; 0311037;0552421
bufi

cgarg = garge=ims

cfmp = fmp=9Yms

cfdv = fdv=9ims

ctad = fad=ims

cfno = fno=ims

cfcp = fcp=ims

csfmp = gfmp=ims
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csfdy = sfdv=3ims

csfad sfad=ims
cfld = £ld=ims
“cfst = fst=inms
cfng = fnag=jims
cfix = £ix~ims
cflt = £le=4ims
csin = sin=ims
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lac 047777 i
sad d4

— 4mp-error
lac 017777
tad 41
dac dirn
lac dirn i
sad qli

— dmp-clink

lac 017777
tad 45
dac dirn
dac name

loopd

lac 017777 4
sad 48
sYys exit
tad dmi
dac 017777 4
lac nanme
tad 44
dac name
dac name1
sys linkj digns 0 pame:
sma

—3mp _loop
lac name
dac 1f
lac 419
s8ys vrites
lac 41

__8YS writej errmes;
imp loop

14

0; &

2

clink!
lac 017777
sad 48

——Jmp _argi
sad 412
imp argl
sad d16
imp argd

i

— e
lac 41
8Ys writej errmes#1j; 1
sys exit

arg1i:
—_%38 01779%
tad 45
dac larg+1
dac larg+2
dmp dlink
arg2s
— 1ae 017772
tad 45
dac larg
tad 44
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0} nameij 0




dac larg+1
dac lapg+2
smp d4link
— AR —
lac 0177717
tad d5
dac laryg
tad d4
dac larg#+1
tad 44
dac larg+2
dlink:
sys link; largy defdirp0;0
sma
5YSs exit
lac larg
dac 1£
lac larg#+1
dac 2f
lac larg+2
dac 3f
lac 41
sYs writed 18,45 &
lac d1
sYys writei 28,45 &
lac 41
sYys vriteid 38,45 W
lac 41
SYs writej errmesji 2
sys exit

errmesi
040; 077012

d1: 1

qlit <1i>

d121 12

d16% 16

defdiri <sy>i<st>j<emdjO0u40040

a4 4

d8: 8

dmiéi =4
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lac
tad
dac
lag
sad
dag
lag
sad
skp
imp
lav
dae
jmp

loop}

~
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e
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lac
sad
jmp
tad
dac
lac
tad
dae

lav
8YSs
spa
Imp
lac
and
sna
imp
laec
dae
sys
spa
imp
dae
ims
lae
sys

lac
dae
ims
lae
sad
imp

lae
sza
ims
lav
ims
lay
ims
lae
dae
imp

047777
a1

name
name i
all
longfle
017777 &
d4

loop
id
name
2f

017777 &
ay

done

dmé
017777 &
name

au

name

sthuf
statusg) dd) namel,.

hadfile
s,flags
020

badfile

name

0f

openj} 08,442 O

badfile
£4
readdir
£1
close

0200000
raxfn
findf
raxfn
0200000
loep

longfle

longoyt
raxfn
puttn
012
putc
0200000
raxfp §
1b




o000.00~000.0000‘00.00005

Iengout: 0
lag name
dac 0%
lav sthyf
sys statusj 0j.,) maxfn
lae s,i ,
ims octalj =3
laec s,flags
ims ogtal; =2
laeg s,uid
ims octal; =2
-1
tad s,nlinks
ema
ims ogtal; =2
lae s,size
ims octal; =5
imp longoyk &

octaly 0
img
lae 45
tad ogtal 4
cma
dac ¢t

11
1lss 3
isz ¢
imp 1b
lac octal §
dac ¢t

11
ecla liss 3
tad 060
NS pute
isz ¢
imp 1b
lav 040
ims pute
is% octal
imp occtal i

teobiagl
lav 076
ims putc
lav 040

ims putec

badfile;
lac name
Yms pyefn
lav 040
ims putc
lav 077
ims pyte
lav 012
ims putc
imp loep

putfns 0
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dagc t

-4

dag t1

18¢ ¢ §
lrss 9

sad ol0
Imp putén 4
ims putc
lae ¢t §

and o177
sad ok

Jmp pusfn 4
ims putc
isz ¢t

isz t1

smp 1b

smp putfn 4

donet

laec noe
sna

sys exit
and 41
sna cla
imp 1£
ims puetc
imp dane

lae noe

rer

dac 1f£

lae fo

sys writej Lopt41} 11,44
sSys exit

readdir: 0

lac £}

sys readj buf; 2048
sad ,=1

imp toobig

1rss 3

cma

tad 41

dae ndir

imp readdir 4

findfr 0

lay byf
dac ¢
lae ndir
daec t1

lag ¢t {
sna
imp 2%
isz ¢
lae ¢
ama
tad maxfn
spa

i




mp 2£+1
lac t
dac maxfp
lae ¢t 4
dac raxen
skp
21
L 7
lae ¢
tad 4
dag ¢
isz t9
smp 1b

lac raxfp
dac 8

lae 8 |
dac raxfne1
lae 3 {
dae raxfne2
lae 3 §

dac raxfn+3
dmp £indf 4

putet 0
and 0177
dag 2f#1
lae opt
dac 2%
add ok00000
dac opt
spa
smp 1£
lae 2£f {
xXor 2£+1
imp 3£

lac 2£+4
alss §

13

3
dae 2f &
isz noe
lae noe
sad 4128
skp
imp pute 4
lae £fo
sYs writej ilopt#1; 64
lae iopt
dac opt
d4zZm nog
imp pytc 4
21 030
£4i1 0
opti ,+*2
ioPti ,+9) ,=,+64
nect 0
fol 1
iongflg: O
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0603 060

o001 O0HO

0208 020

a7y 7

o400000: 040QO00O
d128; 128

aui &

dmés =4

o177% 0177
0200000: 0200000
dd! 056056;0400402040040;040040
alis <li>

1 ="

til =49

maxfnt ,=,+4§

maxfpl ,=,+1

ndirs o=|*‘

stbutf!
Ss,flagsl ,®=,*8
S.uidt .'.‘1
B.nlinkst ,=,+1
Se81zet =, %2
S.41 ,=,.4+1
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" meo

imp 1£
esSet!
£ 3;a ressg; <es>y<et>;012;30
" ims messgj €wr2j; <u 0793 040} O
sys open) moostat; 0
spa
sys exit
dac £i
sys open) mQostat; 1
spa
syYs exit
dae fo
jms readline
dzm user
skp
11
isz user
ims getentry
irp neentry
lac name
sad u,name
skp
imp 1b
lag name+1
sad u,name#*1
skp
Jmp 1b
laeg name+2
sad u,name+2
skp
imp 1b
lac name+3
sad u,name+3
skp
fmp 1b

Qop!
" 3:3 messg) €re>; <ad>; <y 077; 0u0; O
lav rgname=1
dac 8
lav rqhande=1
dae 9
mnrq
dae 2f
ims readch
1
sad 8 §
imp 9 4
isz 9
isz 2f
jmp 1b
ims ressg; 077012; 0
jmp gleop
L
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neentry! ok0s €Eo>
ms messg) €na>) <me>; 040j <nod>} <t
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ims readch
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sad

skp
sys
ims
lac
dac
lac
dae
lac
dac
lac
dac
dzm
dzm
dznm
azm
ims
jmp

ch,y

exit
nevliine
name
u,name
name+1
Ugnames1
name+2
Upghames2
name+3
YUpyname+3
u,ngamnes
JUyRguess
Uyntime
Usnpenalty
putentry
gleop

gstart1:

ims

gstars!

"

11

1

ims
dae

ims
sad
imp
dae

ins
sad
imp
sad
imp
dac

ims
sad
ymp
sad
imp
sad
imp
dae
dzm

ressg; <es>;y 0123 0

random
af

randoen
al
1b
a2

randenm
af
1b
a2
1b
aj

aN
nguess

guessloops

11

ims
laec
sza
imp
sys
laegq
rcr
dae

dzm
dzm
lag

readguess
ngyess

1£
time

stime
nbull

ncow
a1



sad
is2
sad
ise
sad
isz
sad
ise
lac
sad
ise
sad
ise
sad
ise
sad
is»
lac
sad
isz
sad
isz
sad
isz
sad
isz
lae
sad
isez
sad
isz
sad
isz
sad
ise2
lag
sad
imp
ims
lae
ims
lae
ims
ims
is2
imp

gdonetl
SYS
laecq
rey
ema
tad
cma
spa
tad
rer
dac
lac
tad
dac
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at
nbull
az2
ncow
al
ngow
ak
ncow
g2

a1
ncov
az2
nbull
a3
ngow
ak
ncow
a3

a1
ncew
ag2
ncew
a3
nbull
ak
ncow
gk

a
ncow
az2
ncow
a3
ncow
ad
nbull
nbull
a4
Jdone
ressg; OLOOLO; O04OO0RO}
nbull
number
ngcowv
number
nevline
nguess
Juessloop

time

stime

k00000

Stime
Ugntime
stime
Jentime

QLOOLO; <bcd>; 0755 O



lae
tad
dae
ise
ims
ims
la¢
ims
ims
lae

ims
ims
imp
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randonm
sys

dae

jmp

ims
imp

number
img
lav
dae

1
cll
tad
dae
ise

sza
~ Smp
B
-
tad
dae
lae
sna
imp
dag
ims
imp
2 03

ims
ims
dae
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J,nguess

nguess

Uynguess

y,ngamnes

putentry

messg; 0121 <g 0753 0O
nguess

nymber

ressg; OQ4Qs <t 0753 ©
stime

cll; idivy 15
laegq

nymber
nevliine
3loop

1 0
time

iaeq
tad
cll) muls 78125
laeq

rand

rand

ell) {div; 10

randem 4

nevline: 0

messg; 0127 0
nevline i

LY

2£+1
it

laeq

} ddiv; 10
060

3f 4

it

laeq

b

if
if
g 3

nymber 1

' *2

TessSg; W) O
1b
13,440

31 = e

readguesss 0

ressg; 0770403 O
cnum

g1

enum



dae
ims
dag
ims
dag
ims
sad
imp
imp

g2

cnum

93

chnum

Ik

readch

012
readguess 1
readgyess+"

cnumi 0O
ims readch
tad omé60
spa
imp readguess+"
dae 1£
tad Adm10
sma
imp readguess+1
lae 1£
imp cenum §
11 0

readchi 0
cla
sys read) 1£; 1
lae 1¢
lres §
dmp readch 4
11 O

readlinal 0
-1
dae rif
ims read2
dag name
ims read?
dag name+1
ims read?
dae name+2
ims read?
dae name+3
imp readline 4

readz2g 0
ims read’
alss 9
dae 1£
ims read"
xop 1f£
jmp read2 4
T

read1s 0
lae rif
sna
imp 1f£
ims readch
sad o012
skp
imp read? 4
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___dm r1€
11

lae o440

Ymp read?! §
r1£1 0O

getentry; 0
lae user
ell} muyl; 16
laecq
dae 0f
laec £4
sYs seek) 0f,,4 0
lac £§
sys read) userdata; 16
sza
is® getentry
imp getentry i

putentrys 0
la¢c user
cll) mul) 16
laeq
daeg 0f
lae fo
sYs seek) Q.40 O
lag fo
8Ys vrite; yserdataj) 16

imp putentry 4

average: 7
ims ressg; gved;<r 012y ©
ims payer
Jmp gleop

standing;
ims ressg) Cta>; <nd>; 0125 0
lae user
dae 2f
dzm user
skp

sz user
ime Jetentry
Jrp £
lae 41
SYs vritej} u.némej &
ims paver
jmp 1b

lag 2¢
dae user
ims getentry
nop
imp gleop
21 0

pavert 0
laec u,ngames
sna
imp 1£

QQQ.‘..tﬁ..Q.O..‘..‘.Q..




3ms meEsg) <n 075; 0

lae u,nganes

ims nuymber

ims messgj 0407 <g 0755 ©
lae u,nguess

ims number

lag u,nguess

ims aver

ims meegse; QHO) ¢t 0753 O
lae u,ntime

ell; idiv; 15

laeq

Yms number

lae u,ntinme

ell) idiyjy 15

laeq

ime aver

ims nevline

imp paver 4§

o
-

ims ressg; <no2j 040) <gad>s <med} <s 0123 O
imp paver i

avert 0
dae 1£ {3
laeg u,nganes
dae 0f
ims messgi 0507 0O
lae 1£
ell) iddvs Q1 .,
dae 1£
laeq
ims number
ims messgs 0561 O
lae u,ngames
dac 0Of
lae 1£
cll) muls 100
cll} div) 04.,
ecla; div; 10
dae 1£
laeq
jms nymber |
laeg 1§ |
ims number
ims ressg) Q0815 0
fmp aver i

11 ,=,*1

|
‘ messgl 0 |

-1
tad messg :
daeg 8

..s.O.....Q'QQ.Q...

1

lag 8 {

sna

imp 8 §{

dae 1£

laec 41

sys write; 1£; 1
imp 1b




® o o Gl'l'il w ‘|l’ ® ®© & & o o o o ‘l" ® ll‘lbil ® | e ©

§1 8. =

rqnamel
y?
qQ?
a>
8>
r>
RES =  ergnane
rqhandi
Imp gstart!
Jmp quit
Jmp average
imp standings
imp reset

quiti
ims rmessg; <uid; <t 012} 0
sys exit

a1t 1

o400000: 0400000
0603 060

omb0§ =060

dm10t =10

dhi 4

okQy 0HO

o121 012

ch,y:

mit <wvr>jcy 0777 04O

mis = ,=m1

m21 <re>;<ad>j<y 077; 040

m28 = ,*m2

m3§ <na>j<medj0L0idnodi<t 040p<fo><un>j<d 042
<en>j<tedjsr 077 040

m38 = ,=n3

m81 077040

mSSs = ,en5

m71 012;<gu>js<€esdics 075

m78 = ,*n7

mBl <av>;¢g Q75 |

més = ,*mé

mot 087 |

més = ,=nb |

mi10t 0KO0Q75) 04O

I!HOI = .-m10

moostat: <modjcos>j<tari<t 040

£11 =44

fol 3,419
names ,=,+§
nouessi ,=,+1
nbulll ,=,+1
neowl ,=,+1
stimel ,=,+1
atl ,=,4+1

az2i =+

a3l ,=,4+14 |
akl =41

gl =441




g2i s=myti

@3‘ 1=t

glt =441

rands P 3k

user! l’.*q

userdatajy
Usnames ,=,+4
Usngames! ,S,+1
Upnguesst F,+1
Upntimet ,=,*1
UsRPERAltyYl ,=,44
Ushguesst ,=,+1
Uslduesst ,F,.+1
u.htim83 .=.+1
u.ltiMBt .:.*1
s = userdata+16
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=

nm

lac 017777 &
sad d&
skp
imp 1£
lav n,out
daec fname
jmp 2%

11
lac 047777
tad 41
dae fname

loopt
lae 017777 &
sad 4§
imp done
tad dmd
daec 017777 4
lae fname
tad 44
dae fname
21
lav 012
jms putg
sys openj fnamey 03 0
sma
imp 1£
lae fname
dag 2f
laeg 41
sys vritep 21 03 &
lae 41
sYs writej mes) 2
imp loop
mest
0400773 012

-
..

lae 42

sys readj buyf; 3072
ell) idivy 6

laeq

dae sitke

lavy 0200000

dae c2

print}
lae 0200000
dae c2 {1
azm c2name
-1
tad size
cma
dagc c
lay byf
daec c3
laec 0200000
daec c2name

B 0" " D" * T e 2 e s g0 s s

—
-

lae c3 §




@

@

@

Ed

o
®

)

&
R
@

@

®

»

@

®
r

@

&

S

®
B

@

cma
tad
spa
imp
lae
dac
lae
dag

lay
tad
dae
isez
imp
lae
sad
skp
smp
lae
sys
imp

lae
tad
dag
lac
sna
Smp
ise
lae
sna
Jmp
-

tad
dae
-

daec

lag

cZname

2f

cd 4
cipame
cd

c?

8

el

el

¢

1®
ciname
2200000

1£
a2

clese
loep

c2

d3

t

it
print
i
print

c2
3

<3
8 4

irss §

ims

Pute

llss ¢

ims
ise
imp
lac
sad
imp
sna
imp
lav
skp

lavw
dae
lav
sms
is?
lae
1mg

pute
c3

1%
198
a3
Undef

1£
0162

0941
type
040
Putc
t
i¢




=6
dae c3

-
-

cla
llss 3
tad o060
ims putc
is? c3
jmp 1b
lav 040
ims putc
lae type
ims pute
lavy 012
ims pute
imp print
undef?
-8
dag c3

—
ER)

lav 040
Jms putc
isz c3
jmp 1b
law 0165
ims pute
lav 012
ims putc
imp print

done}
lae noe
sna
SYs exit
and 41
sna cla
imp 1£
ims putc
imp done

-
-

lae noe

rer

dae 1£

lae fo

SYS write; iopt&4; 11,4
sYs exit

putei 0
and o777
daec 2£+9
lae opt
dae 2f
add o400000
dag opt
spa
imp 1£
laec 2f §
xor 2f#+14
imp 3f

.__QC.‘..‘Q..C..OC.‘..‘.O..
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lac 2£+1
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alss 9§
31
daeg 2£f
ise noe
lae noe
sad 4128
skp
smp putc 4
lae fo
sys vritej; iopt+1; 64
lae iopt
dac opt
dzm noe
impP pPutc i
21 0;0
ipti: O
eipt: 0
tlp" l"‘, .-;*6“
£i1 O
opti ,*2
loPti ,+1) ,=,+64
nect 0
folf 1

cii ©

c2t 0

¢33 0

t: O
sizei 0
c2namel 0
typet 0

a1

41283 128

02000003 0200000

0777% 07177

ok00000: 0KOOQOOO

a2y 2

aut &

dmii =4

06031 060

a3t 3

dét 6

nyoutt

312605630157165!0160000:000000
uzi










®
] " op
sys = 0020000
@ dac = Q040000
Jms = 0100000
dzm = 0140000
& lac = 0200000
' ~ xorF = 0240000
add = 0300000
[ tad = 0340000
xet = Q400000
i8Z = Q440000
and = 0500000
sad = 03540000
smp = 0600000
lavy = 0760000
nep = 0740000
@ cma = 0740001
cml = 0740002
oas = 0740004
&) ral = 0740010
rar = 0740020
hit = 0740040
) sma = 0740100
sza = 0740200
snl = 0740400
& skP = 0741000
spa = 0741100
sna = 0741200
@ szl = 0741400
rel = 0742010
rer = 0742020
& cll = 0744000
stl = 0744002
rel = 0744010
o rer = Q744020
cla = 0750000
clc = 0750001
& las = 0750004
glk = 0750010
1rs = 0640500

lrss= 0660500
lls = 0640600
llss= 0660600
o als = 0640700
alss= 0660700
norm= Q5640444
@& nerms=0660444
myl = 0653122
‘ T muls= 0857422
div = 0640323
divs= 0644323
idiv= 0653323
[ 1divs=0657323
frdiv = 0650323
frdivs = 0654323
& lacg = 0641002
. lacs = 0641001
) clq = 0850000
&G ads = 0644000
gsm = 0664000
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osc = 0840001
omq = 06L0002
0642000
0640004
img 0652000
ecla = 0641000

2]
3
£
H N un

i = 020000

savVe =
getuid
open =
read =
vrite = 5
creat = 6
seek = 7
tell = 8
close = 9§
link = 10
unlink = 119
setuyid = 12
rename = 13
exit = 14
time = 15
intrp = 16
chdir = 17
chmode = 18
chovner = 19
syslog = 21
capt = 23
rele = 2§
status = 2§
sleep = 26
smes = 279
rmes = 28
fork = 29

E Wl .
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18

21
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p1

= 0
las
dac
lav
sys
dac
irs
lac
cll;
lacg
tad
dac
tad
SYS
lav
dac
=nou
dac

lac
dac
isz
imp
lac
dac
lac
dac
ims

loop:

lac
sza
imp
lac
als
snl
imp
irs
imp

sma
Smp
ims
imp

lac
als
szl
imp
spa
imp
dzm

sYS
lacg
sad
irp

'+ SV

13
syslec
«PDb
ballinit
aballp
mulj}

listpm1
15

d1

capt
outline~1
R

tline
Sf+t

e 1

15 §
Sf+t

1b

15
displist
od400000
15 4
dump

" dump/restore

waitup

2f
b i
$; ral

1f£
dump
3f

3f
restore
3f

+Pb §
S} ra

w0

1
3f

3f
wvaitup

time

stime
loop

bvsize




tad dm1
sad stime

dmp loop
tad 41
dac stime
lac ,pb 1
als 7

spa

sys exit

lae displist
dac 15

=nhall
dac 9f+t

‘O

ims getball)
lac balli+vx
img

lae balli+vy
omq

sza

imp 1f£

ims stickcen
ims putball;

.
..

ims getbhall;
" {if in pocket,

lac balli+sf
spa

imp 4f

lac 9

dac 14

" update

lac ballt#+vx
lrss 6

tad balll+x
and 0177777
dac balli+x
lac balll+vy
lrss 6

tad balli+y
and 0177777
dac balli+y

" display

lac balli+x
lrss 6

xor 0142000
dac 15 1
lac ball+y

1rss 6
xor o164000

.‘_..Q‘..‘.O..O...

* g and stich controls

ball1; 9f+t

t
ball1} 9f+t

ball1; 9f+t
ignore

19

" setx

" sety



dae 15 i

lavw circles1

dac 8

mcircsize

dac 9f+t+1
213

lac 8 i

dac 15 1

isz 9f+t+1

imp 2b

" degrade velocity
ims frict

" e@dge collision

lac lefttest
tad balli+x
sma
imp 2%
ims pocketlr
imp &f
lac ball1+vyx
sma
imp 2%
cpa
tad 41
daec bhall1+vyx
28
lac bottest
tad balll+y
sma
imp 2%
ims pocketth
imp 4f
lac halli+vy
sra
4wp 2f
cra
tad 41
dac balli+vyy
21
lac righttest
tad balli+x
spa
imp 2f%
ims pocketlr
imp 4f
lac balli+wvx
gpa
smp 2f
cma
tad 41
dac balli+vyx
21
lac toptest
tad balli+y
spa
fsmp 2f
ims pocketth

Q....C.*CQOQ.QQQ‘.......
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jmp 4f
lac balli+vy

Spa

imp 2f

ema

tad 41

dac balli+vy

" bpall/ball cellisioen

lac 9f+t
tad 41

sma

imp &f

dac 9f+t+1

lac 14 i
dac ball2+0
lac 14 i
dac ball2+1
lae 14 &
dac bhall2+2
lac 14 §
dac bhall2+3
lac 14 4
dac ball2+d
lac ball2+sflg
spa

smp 3f

lac ballt+x
cra

tad ball2+x
cma

1ma

gsm

dac ,+3
lacgqg

mulsi ,.
dac 9f+t+3
lrss W

sza

smp 3f

lac balli+y
cma

tad bhall2+y
cma

ima

gsm

dac ,+3
lacg

mulss ,.
tad 9f+t+3
1rss 4

sz2a

imp 3£

ims ballball
ims putball;, balll;

152 Sf+t+1

9f+t+1




imp 2b

ims putball; ball1; 9f+t
isz 9f+t
ime 1b

lac old00000
dae 15 i
imp loop

t = t+3
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" p2

frict: O

las

and d1 ] T
sza

imp frict i

lac balli+vx
cll; muls; frfac
dac balli+vx

lac balli#+yy
¢ll; muls; frfac
daec halli+vy

gsm

dac 9f+t

lac balli+vx

gsm

tad 9f+t¢t

tad minvx

sma

imp frict i

dzm balli+vx

dzm bhalll+vy

imp frict i

t = t+1

!
\
|

ballball: O
1188 18 " x*e2dyew? in @
ema
tad 0300000
dac 1£} dae 2f
lac hall2+y
cma
tad balli+y
ema
cll; muls; 180} liss 6
dac sin
lac ball2+x
cra
tad balli+x
cma
¢ll; muls; 23..5 llss 6
dac cos

" calculate closing velocities

lac balli+vx

gsm

dac .+3

lac cos

muls) .. llss 3
daec 9f+t

lac balll+vy

gsm

dac ,+3

lac sin

mulsjy ,./ llss 3
tad 9f+t

dac vp1

lac ball2+yx
gsm

..:l._C\..OQ‘Q.Q..QCQ‘.0.0...
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daeg ,+3

lac cos

muls; ..} llss 3
dac 9f+t

lac ball2+vy

gsm

dac ,+3

lac sin

muls; ..} llss 3
tad 9f+¢t

dac vp2

cma

tad vp1

cma

sna

imp ballball i

" calculate tangential velocities

lac balli+vx

gsm

dac ,+3

lac sin

muls; ,.; llss 3
dac 9f+t

lac balli+yy

asm -

dac ,+3

lae cos

muls; ,./ llss 3
cma

tad 9f+t

cma

dac vt1

lac ball2+vx

gsm

dac ,+3

lac sin

muls; ,.} llss 3
dac 9f+t

lac ballZ+vy

gsm

dac ,+3

lac cos

muls? ,.J) llss 3
cma

tad 9f+t

cma

dac vt2

* recalculate x,y velocities
" with interchanged closing components

lae vp2

gsm

dac ,+3

lac cos

muls; ,,J llss 3
cma

dac Sf+t

‘.Q..‘OQ‘....QO.“O..Q..O



lac vt1

gsm

dac ,+3

lac sin

muls; .+ llss 3
tad 9f+t

cma

daec balli+vyx

lae vp2

gsm

dac .+3

lac sin

mulss ,.J llss 3
dac 9f+¢t

lac vt1

agsm

dac .+3

lac cos

muls} ,.} 1llss 3
tad Sf+t

dac balli+vy

lac vpt

gsm

dac .+3

laec cos

muls? ,.; llss 3
cma

dac Sf+t

lac vt2

gsm

dac ,+3

laec sin

muls; ,.7 llss 3
tad Sf+t

cma

dac ball2+vx

lac vp1

gsm

dac ,+3

lac sin

mulsj ,.? llss 3
dac 9f+¢

lac vt2

asm

dac ,+3

lac cos

muls; ,.J llss 3
tad 9f+t

dac bhall2+yy

smp ballball i
¢t 8 ¢t

dump: O
lac 017
SYys creat; dmpname
spa
sYs save

0_0_0.‘..‘00000CQ.‘......O




dac waitup

gsys write; gsin; 1
lac waitup

sys write; qcos; 1
lac nballp

cll; mulj bvsize
lacgqg

dac 0f

lac waitup

sys vrite; list; 0:,,
lac vaitup

sys close

imp dump 1

restoret 0
sys openj dmpname; O
spa
SYs save
dac wvaitup
sys readj gsin; 1
lac vaitup
sys read; agcosj 1
lac nballp
ell; mulj bvsize
lacgqg
dac 0f
lac waitup
sys read; 1ist; 0:,,
sad 0Op
skp
SYs save
lac wvaitup
sys read} dump; 1
sza
EYS save
lac vaitup
SYys close
imp restore 1

..CQ.Q.‘..Q.OOQ.‘Q."Q.‘.C




" p3

rad = 02000
_diam = rad+rad

diam3 = diam=0200
middle: 0100000
high: 0177700=010000
lows 010000
ballinit: O

=nbhall

dac 9f+t

lac
dac
lac
dac
dzm
dzm
dzm
ims

* .0 ball

middle
balll+x
lovw
balli+y
ballt+yx
balli+vy
balli+sflyg
put

" top rovw

lac 41

dac balli+sflg
lac high

dac balli+y
mdiam=diam=diam
tad balli+x
dac ball1+x
ims put

ims put

ims put

ims put

ims put

" second rov

~diam3

tad balli+y

dac balli+y
mdiam=diammdiam
tad balli+x

dac balli+x

~diam=rad T |
tad balll+y |
dac bhalll+x
ims put

ims put

ims put

ims put

" third row

wdiam3

tad balli+y

dac balli+y
mdiam-diamediam=rad
tad balli+x

dac balli+x

© 0 0 0gt 0 gt oo g o g s




t

13

QCCO‘.C‘O...QQ..‘.Q'QQ.‘

ims put
ims put

ims put

" fourth rov

=diam3

tad balli+y
dac balli+y
=diam=diamerad
tad balli+x
dac balli+x
ims put

ims put

" last rov

mdiam3

tad balli+y
dac balli+y
mdiam-rad
tad balli+x
dac balli+x
ims put

jmp ballinit i

put: 0

ims putball; ball1;
=diam=1
cma
tad balli+x
dac balli+x
isz 9f=+t
jmp put i
imp put i
t+1

getbhall: 0

-

tad getball 1
dac B8

isz getball
lac getball 4
dac 9f+¢

l1ac nballp
tad Sf+t 4
cll; mulj) bvsize
lacg

tad listpm*

_dac 9

~bvsize
dac 9f+t

lae 9 i

dac 8 1

1sz Sf+t

imp 1b

isz getbhall
imp getball i

9f+t



putb?ll: 0

tad putball i
dac 8

isz putball
lac putball i
dac 9f+¢t

lac nballp
tad Sf+t }
ell; mulj bkvsize
lacq

tad listpmt
dac ¢

=bvsize

dac 9f+t

lag 8 1

dac 9 i

isz 9f+¢t

imp 1b

is2 putball

imp putball i
t = t+1
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pl

stickeont: O

» disblay stick

lac

balli+x

1rss 6

Xor

dac
lac

0142000

-
ball i+y

1rss 6

Xor
dac

lac

0164000
15 1

acos

lrss 8

sma
jmp
cma
tad

Xor

11
Xor
dac

lac

1£

a1
02000 "

0100000
15 31

gsin

irss 8

sma
Smp
cma
tad
xor
113
Xor
dac

1£

d1
02000 "

0124000
15 1

" reotation

lac
rtl
sma
imp

cpb 1

rar
2f

setx

sety

minus

vecx hold

minus

" vecy vis

" coarse rotation

sma
imp
szl
imp
ims
imp

18
snl
imp
ims
ymp

" fine

21
swa

1£

3f
rotate)
3f

3f
rotate)
3f

rotatien

mcsin) ccos

¢sin; ccos



imp 1%
szl
_dmp 3f :
ims rotatej mfsin;
imp 3f

—
-

snl

imp 3f

ims rotatej) fsinj
3

" strike

lac .pb i
£tl] ral
sma ral
imp 1f£

lac gcos

dac balli+vyx
lac gsin

dac halll+vy
smp stickcent i

-
..

sma
imp stickcont §
lac agcos

lrss 1

dac balli+vx
lac gsin

1rss 1

dac balli+vy
imp stickcont i

rotate: 0O

lac rotate i
dac 9f+t+1
lac 9f+t+1 }
dac 9f+t

182 rotate
lac rotate i
dac 9f+t+1
lac 9f+t+1 §
dac 9f+t+1
isz rotate

lac gsin

gsm

dac ,+3

lac Qf+t+1

muls? ,.i llss 2
dac 9f+t+2

lac qcos

gsm

dac ,+3

lac 9f+t

muls; ,.j llss 2
tad 9f+t+2

dac 9f+t+3

lac asin

QA.._..O.~.00..Q.Q‘QC.. ® o o

fcos

fcos




gsm
daec ,+3
lac 9f+t
muls; ,.} llss 2
cma
dac 9f+t+2
lac aqcos
gsm
dac ,+3
lac Sf#t+1
mulss ,.’ llss 2
tad 9f+t+2
dac acos
lac Sf+t+3
dac gsin
jmp rotate i
t = t+l

prad: 02000
pocketlr: 0O
lac balli+sflg
sna
imp 2f
-1
tad prad
cra
tad bottest
tad bhalli+y
spa
imp 3f
lac prad
tad toptest
tad balli+y
sma
imp 3f
-1
tad middle
cma
tad balli+y
sma
cma
tad prad
sma
imp 3£

N
-

isz pocketlr
imp pocketlir i

w
-

-
dac balli+sflg
imp pocketlir i

pocketth: O
lac balli+sflg
sna
imp 2f
-1
tad prad
cma
tad lefttest
tad balll+x

Q...C‘O.‘.COC0.0.‘.
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spa
imp
lac
tad
tad
sma
imp

isz
imp

-
dac
imp

3f

prad
righttest
ball 1+x

3f
pocketth

pockettbh 1

ball1+sflg
pocketth 1




"95

frfac = 0774000 " loss in vel to frictien
toptest: 02000+401000«0177700
bottest: =02000~01000
righttest: 02000+040400=0177700
lefttest: =~02000~040400

minvx: =02000 " vel below whitch vel is set zero
£sin: 0203 " sine of fine rotation angle

mfsing =0203 " negative of fsin

mesing =02534 " negative of csin

feoss: 0177777 " cosine of fine rotation angle
ccos: 0177761 " cosine of coarse rotation angle

——nRi3l ' 48 e R

1‘.' a1: 1
o173 017
0300000 0300000
dmis =1
016420002 0142000
o164000: 0164000
ol00000: 0400000
01777773 01777717
02000% 02000
0100000: 0100000
0124000 0124000
gsin: 0177777
gcos: 0
dmpname: <pd>j<um>;<p OCUQj; OKO0LOC
nballp: nbhall
listpm1: liste"
outline:
0065047
0140000 0400
0164000 04
0220414
0124000 01000=010-020
0225010
0221010
0124000 0777=010=020
0224414
0221444
0120000 0777=010«020
0221404 bl
0224454
0126000 0777=010=020
0221050
& 0225050
‘ 0126000 01000=010=020

°

0220454
0225404
0122000 0777=010=020
0225444
notline = ,=cutline
cirele: B Tt
0212000

0220002
0220002



ovooc.oo‘oooooooo‘oo‘oooci

0224101
0220002
0224101
0224101
0224101
0224101
0224101
0224101
0224101
0224101
0224200
0224101
0224200
0224200
0224200
0224200
0224141
0224200
0224141
0224141
0224141
0224141
0224141
0224141
0224141
0224141
0220042
0224141
0220042
0220042
0220042
0220042
0220141
0220042
0220141
0220141
0220141
0220141
0220141
0220141
0220141
0220141
0220200
0220141
0220200
0220200
0220200
0220200
0220101
0220200
0220101
0220101
0220101
0220101
0220101
0220101
0220101
0220101
0220002
0220101
0220002




0220002

Db .=,
.5" '=0
stime:! .

N+ +
- .
+
+
-

- k- 1N

vt2}

Lot B S L R

bvsize = ,=~bhall"
ball2:

1=.tbhyvsize
list:

..O.,.C‘.QO.C.QO‘...CQ.C

circsize = ,=circle
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"pd

SYS openj] dotdot) O
spaj jims error

dac df

lav dip=1

dac 8

-
-

lac df

SYs read} tbhuf) B
spa) jms error
sna

jmp 1£

laec thuf

sna

jmp 1b

-8

dag ci

lav thuf=~1

dac 9

LV
..

lac 9
dac 3
isz ¢
jmp 2b
Jmp 1b

-
-

lae d4f

sys close

lav 017

8YSs creat; dotdot
spaj 3ims error
dac 4f

lav dir=2

cma

tad 3

dac ,+4

lac df

sys vritejy dirgs ,,
spaj ims error
lac 4f

sYs close

sys exit

errort 0
-1
tad error
hlt
SYs save

dotdot!
0560565 04LOOLQs OKLOOLOY OKOOLO

C1i =441
df: ,=,+1
thufi ,=,#+8
dir:







lac 41

sysloc
+pbp
tad 41
dac ,pbp1
restart:
£ld; arg!’
£fst} g
fld; arg?
£fst; fact
£ld4; £p01
L M YW NN
ims capture
=100
dac 3
£14; £p0
fst; z
— 28¢] 0ldx
fst} oldy
lac ok00000
daec 1 11
dac 1 11
lac setx
Lo aiogag 1 90
lac sety
dac { 10

loop}
sys time

® o o ‘I'i ® GD‘I'ID e o o

_£14; 2z )
fad; £m110
fdv;) radians {
£st; b L
£14;
fad;

g8t}

£1ld;
fng
fmpj
fst)
£14)
£dvj fact
fst;} fact
£14; b
fad; fpid2
sin
fmp; 4
fmps £p500
fst; xx
ims in
smp done
£14; b
sin

_EERs 4
fmp; £p500
fst) vy
ims in
smp done

fact

Q

fp1

© 0 0 0g® ° g0 0 0 0o

QNna N
|
4

23 < 0”351'

+ = ong 2
3"5:"05
2= ©
olAdx = 0
cﬂl}%j =0

kp&?o i

XX = 500, kd ¥ Sim (04T )
o
e

: W ()

\ ;}éinD Qix967
\ \
\ V

506.% ds 3w (b)




lac
dac

dac
£14;
fng
fad;
fix
spa
xor
tad
dac
£ld;
fnag
fad;
fix
spa
xor
tad
dac
£1l4;
£st}
£l4;
fst)
isz
skp
imp
£14;

imp
done:?

dac
sYys
isz
jmp
Skp
9f:0
dzm
lac
sza
imp
18
8SYS
lac
sna
jmp
spa
imp
spa
imp
spa
jmp
spa
imp
spa
jmp
spa
smp

..’.0.0...O‘..’.Q..

fdv;
fad;
£st)

0400000
1 11

£ 11
oldx

XX

0775777
vecx
i 10
oldy

- -

0775777
vecy

i 10

XX
oldx
Yy
oldy

3

done

q
fp80000
d
d

loeop

=1000

of
time
of
=2

char
auto

doauto

time sSwap

i ,pbp

1b
ral
1£
ral
2f
ral
3f
ral
4f
ral
5f
ral
6%
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|
|
|
!
!

~J
-

=
..
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-

91

91

6%

33

spa
imp
ims
sys

cla
sYys
lac
sad
skp
imp
dac
dzm
imp

sad
imp
dzm

cla
s§YS
lac
sad
jmp

ral
7£

release

exit

read’ tmp;

trp
0141000

0f

auto

i ,pbp1
doauto

012000
restart
a

readj char;
char

012000

9f

lrss 9

dac
lac

char
a

alss 3

tad
tad
dac
jmp

lac
sad
imp
lac
dac

imp

lac
dac
imp

char
om60

a
9b

tmp
061000
9f

g

argz
restart

g

arag1
restart
£p500
restart
£p500
£p500

restart

old00000
char

fld; arg1
fmp; £m056

lac
spa
fno

char

1




|
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fad; arg1
£fst; argt
imp restart

laec o400000
dac char

£ld; arg?2
fmpj £fm056
lac char
spa

fng

fad; arg?
fst; arg?
imp restart

doauto:

lac i ,pbp1
sma

jmp 1£

dzm auto
imp done

sys time
omq

tad 0

tad stick
cll

mul

78625

11ls 9

dac stick
dzm aexp
and 0177777
xor 0200000
dac ams
fad; fmhalf
fmp) £fp128
lac stick
and 41

sna

imp 1f£

fsti arg"
imp restart

fst; arg?
imp restart

0
fix
tad 4500
spa

imp 1 in
tad dm1000
spa

isz in

jmp 4 in

capture: O

lav buf=1
dac 10



.‘.C.QQQQ.

dac 11
l1ae o400000

SN ¢ U0 K PN 7

lav buf
sys capot
smp i capture

release! 0
__8Yys rele
imp § release

chart: 0

stick: 0

xx: 03 0; O
_oldx: O3 03 ©

yy? 03 03 O

oldy: 030 0; O

58 0

auto: 0

setx: 0142000 +512
sety: 0146000 +512
vecx: 0100000

vecy: 0124000
0775777: 0775777
01777778 0177777
0120003 012000
061000: 061000
omb0: =060

da131 13

4500: 500

o141000: 0141000
£p12818; 02u40000; O
fmhalf: 0; 0800000; O
dm1000: «1000

fact: 03030
gt 03030
_zt 03030
bt 03030
ds 03030

radians?: 63;0345136;0
£m1103 7;0734000;0

_arg1: 73023416730

arg2: 13027553130
fp02: 03030
fp01: =63;0243656;0
£m0563 =4;0745301;0
fp5003 113037200030
_£p900002 021;0257620;0
«Php: ,=,4+1
opbp1: 0
buf?s
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rm

lae 017777
tad 41
dae 2f

lae 017777 4
sad di

sYys exit

tad dmd

dae 017777 i
lac 2f

tad 44

dac 2f

sys unlink; 23
sma

jmp 1b

lac 2b

dac 2f

lac 41

sys vrite; 2@
lac 41

sys vrite;
imp 1b

040077;012000

-
v







% 'n

lag 017777
tad 41
dac name?2
loopi
lag 017777 §
sad 44
Sys exit
sad 48
jmp unpal
tad dmé
dac 017777 4
lac name2
tad 4§
dac name1
tad 44
dac name2
8Ys unlinkj name2: 0
lac name2
dae 1f
SYs renamej named1s 07 %3 0
sma
imp loop
laec namet
dae 1£
lae 49
sys write; 11 0; 4
lac 41
SYs vritej} mes; 1
lac name2
dac 1f
lac 49
sys vritej; 11 05 &
lac 44
sys vritej mes) 2
imp loep
mes:
0400003077012
unball
lac namel
tad 44§
dae 1£
lac 41
sys writey 17 05 &
lag 41
sys vwrite; mesi 2
sSYys exit

a1t 1
diat &
dgs 8
dmé;: =8

...00‘0.*.C..CQQ.‘Q..C..'







" poft

lae 1 017777
_sad 44

sys exit

1ae 017777

tad 41

dac fname

ims nextfile

__lac obufp
dac otal

" main i/0 loop
18
ims readline
_4mp 3£
lac ravwchar
sad cc
imp 2£
ims text
fmp 1b
21
sms control
smp 1b
3t
ims break
ims eject
lac otal
sma
fmp 1£
cla
ims putsc; otal

'QC‘O.Q.

1
-1
tad obufp
cra
tad otal
dac 1f£
lac output
sys write; obuf;
sys exit

N
.o
o

" read line routine
readline: 0
lav ravchar=1
dac 8
18
ims getchar
dac i 8
sad 012
skp
jmp 1b
isz readline
imp i readline

" read character routine
getchar: 0

lac ital

sad eibufp

skp

imp 1£

=64

.40400‘0.‘00000000




dagc 3f
lav ibuf~=1

dac 15
dzm 1 15

isz 3f

imp 2b

lac input

sys read; ibuf; 64
sna

ims nextfile

laec ibufp

dac ital

ims getsc; ital

sza

imp i getchar

imp getchar+1
31 0

putchart 0 =
ims putsc; otal
lac otal
sad eobhufp
skp
imp i putchar
lac output
sys write} obuf; 64
lac obufp
dac otal
fmp i putchar

laci: 0O
dac 1£
lac 1 1f
jmp 1 laci
11 0

nextfile: 0

iae 1 017777

sad d§

imp 1 readline
tad dmé

dac 1 017777

lac fnanme

tad 44

dac fname

lae input

sys close

sys open; fname!l
sma

imp 1£

lac fname

dac 2f

lac 41

sys write; 2! 0 &
lac d1

8Yys write; 2f; 2
sys exit
0400773012

o
-~

© 0 0 0g° 0 g0 0 00000y 0 ege e 0 o0




dae input
lac eibufp |

e Rt - L
jmp 1 nextfile

getsct O

lac i getsc

dac sctalp

is2 getsc

lac { sctalp

dac sctal

add o400000

dac i1 sctalp

ral
__lac § sctal

szl

lrss S

and 0177

ijmp § getsc

. ]

putsct 0
and 0177
imq

lac i putsc
dac sctalp
isz putsc
_laec § sctalp
dac sctal
add o400000
dac 1 sctalp
sma cla

imp 1£

liss 27

dac 1 sctal
lrss ¢

jmp i putsc
18

lac i sctal
omg

dac i sctal
lacge

jmp 1 putsc

control card decoder
controel: 0

lav 2£f=1

dac 8

=ncase

dac ¢

lac ravchar+1

alss @ S

Xor ravchar+2
13
sad
imp
isz
isz
imp
imp

8
8

b
eontrol

e ali) 00 b

ncase = 0

._0.0.Q.‘.QQ....O




<ad>}
<bp>}
<br2;
<ce?}
{ce?};
{ds>}
<fi>;
<in>;
<1i>;
<1l1>;
{1ls?>;
<na>;
<ne>j;
<nf>;
<pl>;
<sp>}
{ss8?}
{ti>;
<ul>;
<un?>}

|

casead:

-1

casebp!

casebr:

casecc:

dac ad
imp i contreol

imp
imp

Amp

smp
jmp
qimp
imp
imp
imp
imp
imp
imp
jmp
imp
imp
imp
imp
jimp
imp
jmp

ims break

ims break
ims eject
jmp i control

ims break
imp i control

casead}
casebp;

casebr;}
casecc)
casece}
caseds}
casefi)
casein;
caseli]
casell;
casels)
gasenaj
casene;
casenf;
casepl;
casesp;
casess;
caseti;
gaseul}
gaseun;

" control cases

ims skipcont
lac { 8
sad o012

© 0 0 0g° 0 g0 0 0 0 000 0 0o

!
|

smp 1 control
dac cc¢
imp { econtrol

casece:

ims break

ims number; d0
spa

cla

_dae ce

ims need) ce
imp { econtrol

caseds:
ims break
lac 42
dac ls
fmp i econtrol

casefi:

ncase
ncase

ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase
ncase

Hauwnnumnnowguwnuntoun uneuw

ncase+
ncase+1

ncase+1
ncase+1
ncase+1
ncase+
ncase+1
ncase+1
ncase+1
ncase+1
ncase+1
ncase+1
ncase+
ncase+1
ncase+1
ncase+1
ncase+1
ncase+1
ncase+1
ncase+1




jﬁs break

= ;) Ee { QIR
imp i control

casein:

ims number;j in
cma

tad 41

sma

cla

dac in

daec un

imp 1 control

caseli:

casell

sms number; d0
cma

tad 41

sra

imp i gontrol
dac 2%

ims readline

imp i control
ims text

isz 2f

imp 1D

smp 1 control
0

4ms number; 11
spa

cla

dac 11

imp 1 eontrol

casels:

ims number; d0
sza; spa

laec 41

dac ls

imp 1 control

casena:?

ims break
dzm ad
imp 1 control

casene:

sms numbperj; 40
spa

cla

dac ¢

ims need) e
imp i control

casenf:

.CQO.Q.‘O..CQ.OQ‘..‘Q.QQ

Yms break
dzm £fi
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imp i control

casepl:
sms numberj pl
spa
cla
dac pl
ims topbot
imp i control

casesp
ims break
ims number; 40
cma
tad d1
sma
imp i control
dac ¢

ims nline

isz ¢

imp 1b

imp L control

casess:
ims break
lac 41
dac ls
imp 1 contrel

caseti
ims break
ims numberji in
spa
cla
daec un
imp i control

caseul
ims numberj d0
spa
cla
dac ul
smp i control

caseun
ims numberj 40
tad in
sma
cla
dac un
imp i eontrol

" selected short routines
skipcont: 0

lav ravchar=1

dac 8
11%

lac i 8

sad o4l

imp 1f




sad 012
imp 2f
imp 1D

lac i 8
sad o012
jmp 2f
sad o4l
imp 1b

N
-

-1

tad 8

dac 8

Imp i skipecont

break: 0
lag¢ nc
sna
imp 1 break
-2
tad ls
cma
sma
imp 2f
dae ¢

18
ims nline
isz ¢
jmp 1D

23
lac nl
sad bl
irs eject
lae nl
sza
imp 2f
=5
dac ¢

14
lac o055
ims putchar
isz ¢
smp 1D
lac mat
dac ¢

11
ims nevline
isz c
smp 1b

lav char=1
dac 8
lac un
sma
imp 1£
dac ¢
2! ;i
lac o040
ims putchar
isz ¢
smp 2b

COO.‘.Qb..OQC.OQ‘C.‘..QQ
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lac
ims
isz
imp
ims
azm
dzm
lac
dac
jimp

i 8
putchar
ne

1b
nevline
nvd

ne

in

un

i break

newline: 0

lac
ims
isz
imp

nline!
lac
sna
jmp
sad
imp
ims
imp

number
dzm
dzm
-1
dac
ims

lac
sad
imp
sad
imp
sad
imp
tad
sma
imp
tad
spa
imp
dac
lac

..

012
putchar
nl

i newline

0
nl

i nline
bl

i nline
nevline
i nline

0
num
sign

any
skipcont

Rl
012
3f
053
2f
055
2f
om72

1b
012

1b
any
num

ell; mul; 10

lacgqg

tad
dac
imp

21

dac

imp
38

lac

sma

imp

any
num
1b

sian
1b

any

1£




- |
R

|-
-

-
..

00.....‘.0.‘000.‘..‘.000

lac
isz

imp

lac
sza
imp
lac
isz
imp

sad
imp
lac
ims
cma
tad
cma
isz
imp

lac
ims
tad
isz
imp

eject!

lac
sna
imp
lac
sna
imp

sad
imp
ims
lac
imp

dzm
imp

storechar!

img
lac
sza
imp
law
dac

lacg
dac
ims
cma
tad
tad
dac
-1
tad

41
number
i number

sian

1£

num
number

i number

053

1£

i number
laci

num

number
i number

i number
laci

num
number

i number

0
pl

i eject
nl

i eject

pl
1£
nevline

nl
1b

nl
i eject

0
nc
1£

char=1
10

i 10
vidth
d1
ne

ne

nc



dac nc
imp i storechar

getvord: 0
lav word=1
c 8

cdzZm vne §}

dzmn wch9
B ‘: :}
i 11

lac 1
sad 012
imp 1 getweord
28
dac i 8 —
lma
ims width
cma
tad 41
tad wne
dac wne
-1
tad wch
dac wch
lacqg
sad oMl0
imp 1b
lac vord
sad od0
imp 1f
lac ol0
dac - word
1089 \—
imp 2b
11 G
laec 1 141
sad o012
imp 1£
sad o4O
imp 1£
dac 1 8
ims width
cma
tad 41
tad vne
dac wne
-
tad wch
dac wch
jmp 1b
11
L
tad 11
dae 11
isz getvord
imp i getword

-

need: 0O
lac l1ls
dac 1£f
laec 1 need
ims laci

e o o lb‘.vl o 1‘.’ ® & ¢ & & o o o "'l @ Ciq'ﬂh e O o




c¢ll; mul; 1: 0
laecqg

tad nl

cma

tad bl

spa

ims eject

isz need

imp i need

" ¥ext line routine
text: O
-1
tad ul
sra
iws undline
-1
tad ce
sma
ims center
lav ravchar=1
dac 11
lac ravchar
sad o012
irp 1f=1
sad od0
App 1f=1
lac s
gza
jmp 2f
skp
ims break

lac 1 11
sad o012
Smp 1£
ims storechar
jmp 1b
13
lac nc
sna
ims nline
ims break
Jmp { text
¥ e
ims getwvord; Jmp i text
lac vne
tad ne
tad un
tad 11
spa
ims addust
lay vord=~1
dac 8
lac nvd
sza
imp 3f

lac 1 8
sad o440
skp

..C...O‘.C..O...‘.......




imp 3f£+1
182 wch

imp 1b

lac i 8
ims storechar
isz wch
jmp 3b
isz nvd
imp 2b

" adjust routine
adjust: 0
lac nwd
sna
imp 1 adiust ’/
lav char=1
dac 8
lav tchar=1
dac 9
dzm ndiy
dzm nrem
lac ad
sna
imp 1f
-1
tad nvwd
snha
imp 1£
dac 2f
lac 11
tad ne
tad un
spa
imp 1f£
ell; idivi 2% 0
dac nrem
lacg
dac ndiv

lac { 8

sad o40

ims £ill
dac 1 9

isz nc

jmp 1b

lac 012

dac i 9

lav tchar=1
dac B

lac 1 8

sad o012

fmp 2f

ims storechar
imp 2b

ims break
dmp i addjust

$1%32 0
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lac nrem
sna
_3mp 2f-
d@mﬂ)
dac nrem.
lac 41
21 <
tad ndig
_cha

daec ¢
laec ol0

daec 1 9
isz ¢

imp 2b

isz nc

lac 1 8
sad olo0
skp

dmp i £il1
dac 1 9
imp 2b

" more routines
topbot: 0

lac pl

sza

imp 1£

dzm bl

imp 1 topbet

-11 :

tad pl

spa

imp 1£

dac bl

cra

tad 41

tad nl

spa

imp i topbot
lac bl

dac nl

mp i topbet

.
..

lac 455

dac bl

dac nl

tad 411

dac pl
imp i topbot

undline: O
daec ul
lav ravchar~1
dac 8
lav tchar=1
dac 9

lac i 8

.
°
P
.
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dac
sad
imp
sad
imp
lac
dac
lac
dac
imp

lav
dac
law
dac

lac
dac
sad
jmp
imp

center:

dac
lav
dac
lav
dac
azm

lac
dac
sad
imp
ims
tad
dac
imp

-1

tad
spa
mp
cma
tad
tad

cma
tad
sma
-1

dac
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fmp; ctheta

— fad) ax
fst; ax
£ld; f£tmp1
fmp; stheta
fad; ay
fst; ay

£ld; ox
fno

fad; ax
fst; f£emp1
£ld; x

Tac aexpP
tad 41

dac aexp
fad; f£tmp1
fst; fenmp!
£ld) x

..‘O..QO..

£st; ox
£ld; femp1
fst) x
£ld; oy
fng

fad; ay

£st] ftihp'
£ld; vy

lac aexp
tad d1

a U

. » > v & © )
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dac aexp
fadj} fempt
£st; femp1

£fld; y
£stj oy
£14; femp1
fst} y

lac par
sad maxJ

imp L updshp
ims absxy
ims shipxy
lac par

ims absvy
£ld; ox

fno

fad; x
fad; absx
fst} ox
£14; oy
fno

fad; y
fad; absy
fst) oy
lac max]
dac par
ims absy

£ld; ox
fng

fad; absx
£st] ox
£1d; oy
fno

fad; absy
£st) oy
lac par
ims absXy
£1d; absx
fad; shipx

ftng

fst) x
fad; ox
£st} ox
£ld; absy
fad; shipy

fng
fst; vy

fadinsi

fad; oy
£st} oy
lac par

tad fppar
dac 1%
lac { £
tad prsq
dac 1£
£1d; 11,.

sqrt

fstj rpar
ims dspsSca
lac par



ims dispPname
imp & updshp

insert: 0
fng
£ix
tad 4383
spa
imp i inscr

tad dm768
sma

jmp { inscr
isz inscr
imp i inscr

absxy: 0
sna
dmp 7%
img
lac £fldins
dac 2£f=1

dac 4f=1
lacqg

13
dac absi
sna
imp i absxy

tad fppar

dac 9f+t

lac 1 9f+t
53 A

tad px

dac 2f

fldinsi
£14} absx
fldi 2".
£st} abhsx
lac 1 9f+t
6:

tad py

dac Uf
£1d; absy
f‘d’ “'Q'.
fst] absy
lac fadins

dac 2b=1
dac Ubp=1
lac absi
tad ppar
dac 9f+t
lac 1 9f+¢t

.Q.‘.....‘OO‘Q.’Q.OQ

~3
-

imp b

dzm absX
dzm absx+1
dzm absx+2
dzm absy

N @ <

dzm absy+1
dzm absy+2
imp 1 absxy

T

b~

> & 0 >




t = t+1

0..0‘..‘00.0‘.00’0.‘0.00
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" space travel 4

displaj 0
lac locpar
sad eplan
skp

imp 2f
lac locflyg ‘

sma
-1 1 2}
£1d; cphi
fmp; abhsy
fst; ftinp1
£1d; sphi
fmp; absx
fad; fempt
fdv} dpar
fst} stheta
£1d; sephi
fmp; ahsSy
fng

£stj fempt
£ld; cphi
fmp; absx
fad; ftmp1
fdv; dpar
fst} ctheta
imp 2f£

|

—
-

£1d4; sphi
fst; stheta
£1d4; cphi
fst; ctheta

N
.

£1d; absx
sfmp)} etheta
fst; ftmpi
£l14d; absy
sfmpi stheta
fad; ftmp1
1ac aexp
cma
tad scale
cma
dac aexp
fst} spoY
dzm inflag
ims inscr
jmp 1£
tad o145777
dac clistp i
ims rotXx
Tac dhalt
dac inflg
ims inscr
jmp 1£

@
o tad 0161577
&
@

"')ll ® '1." ® & ® o o o o o ‘l" @ Cl‘l'

dac 1 clisty
Tac eplan

ims dsplanet
13

ims dreirc




(8]

wUV J0O

- A O

imp i displa

tad o141577
dac 1 clistp
=1

tad sety

cma

dac tsety
lac sety

tad 0165777
dac clistp i

lac narcs
dac nt
£ld; wx
fst; tvx
£ld; vy
fstj tvy

rotx: 0 4
£ld; absx |
sfmpi stheta !
fst; ftmp1
£ld4; absy :
sfmp) ctheta |
£ng |
fad; fempt
lac aexp |
cma
tad scale
cma
dac aexp 5
fst; spXx
imp i rotx

surfs 0
L3
tad setXx
cma
dac tsetx
lac setX

£ld; v
fng
fst) v

£ld; v
sfmpi tvy

tng

fst)} ftmp1
£ld; vy
sfmpi tvx
fad) £femp"
£st) femp2

£1d; v
sfmpj tvx
£st; femp
£1d; vv
sfmp; tvy
fad)} ftop1

'lh..vi ® l‘l. ® © o & o o o o "'i ® GD('.GD ® o o

£st; tvwy

fad; soY

ims inscr
imp 1£




tad tsety
dac dely
cma

tad 41

tad tsety
dac tsety
£ld; femp2
£st] tvx
fad; spX

ims inscr
jmp 1f£

tad tsetx

dac delXx

cma

tad 41

tad tsetx
dac tsetx
lac delXx
sma

imp ,+3
gma

tad ok
alss 6
dac delx
lac dely
sma

imp .+3

cma
tad ol

tad delx

tad 0220000
dac { clistp
isz nt

imp 2b
imp i surf

isz surf
imp i surf

lac
spa
imp
lac
tad

drecirct O

grvilg

i dreirc
fcplan
prsq

dac

o *2

£l4; ,.
sqrt

lac aexp
cma

tad scale

__’O.‘O......O.‘O.‘..QO

cma
dac aexp
£fst; dtmp1
fcp; thrs
spa

imp i drcirc

. @ © =

Jd W s W O N

fng

lac dpar
cma

tad scale




cma
dac dpar
fad; dpar

sfdy) dpar
fst) demp2
sfmpi sPy
fst; vy
ims inscr
jmp 1 drcirec

dac sety
lac inflg
sma

ims rotXx
£ld; demp2
sfmpj spx

£st] wx
ims inscr
Jmp i drcirc
dac setX
£14; spoy
fng

fad; vy
£t} vy
£14; spx
fng 2
fad} wx
st} wx

£1d4; denmp1
sfmp; pid10
fcp; £400
spa

imp 1f£

lac 4400

13

dac narcs
imp 2f

fix
tad dm20

spa

2t

cla

tad 420
daec narcs
£lt

£st; dtmp1

R |

tad narcs
cma

dac narcs
£ld; f£2pi
sfdv) Atmp1

fst; v
sfmpj} v
-1

tad aexp
dac aexp
fng

UV JU0

Q.C..‘ C‘....CO..‘. .‘. ® o o

fad; fpone
£st; vv

lac 040004
dac § clistp




ims surf
jmp L drcirc
_ims surf

jmp 4 drcirc
imp 1 drcirc

2 _lD'ICD IN"1U' @ l‘.’ ® | ® ®© o o o o o ‘l" @ ‘.'l’
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" space travel 5

dsplanet: 0

points

dac
lac
dac
lac
dac
lac

9f+t

1 9f+t

i clistp
0246256

i clistp
0253052

dac
lac
dac
imp

i clistp
0246036

i elistp
dsplanet i

dispname: 0

tad
dac
lac
tad
dac
lav

names
9f+t

i 9f+¢t
dm1

A
namedsp=1

1t

dac
=10
dac

lac
sna

9
9f+t

i8

imp
dac

2f
9f+t+1

irss 9

dac
isz
skp

59
9f+t

jmp
lac
and
sna
jmp
dac

i dispnane
9f+t+1
0177

2f
$ 9

2

isz
imp
imp

dzm
isz

9f+t
1b
i dispname

.9
9f+t

imp
imp

t = t+2

2b
i dAispname

dspsca; 0

oV i00

lac
sma
imp
lac
dac
-1

scale

1£
055 "=
dsscCa

1t

.0..'0 @ %. ® ¢ o o o o Q‘ ® ... ® o o

tad
cma

imp

scale

2f
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[

lac 053 "+
dac dsscCa
lac scale

2%
cll; idiv; 10
tad 060
dac dssca+2
lacqg
__tad 060 L. e AN Puge P L g
dac dssca+1
imp 1 dspsca
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"space travVel 6 =+ tables

names: ,+1
sun

earth
ariel
callisto
moon
deimos
dione

enceladus
europa
ganymede
hyperion
iapetus
io

jJupiter
mars
mercury
mimas
miranda
neptune

nereid
oberon
phobos
phoebe
pluto
rhea

saturn
tethys
titan
triton
umbriel
uyranus

yenus

sunt <su>j3<n

earth: <ea?j;<rt>;<h

ariel: <ar?>j;<ie>; <1

callisto: <ca2;<ll>;<is>;<to>;0

mooni <mo>;<ony;V

deimosi <deX;<im>j<o8>;0

dione: <di’>;<on>j<e

enceladus: <en>j<ce>j<la>j<du;<s
europai <eud;<ro>;<pa>;0
ganymede; <ga2;<ny>j;<me?;<de>;0

hyperion; <hy2;<pe>j<ri’;<on>;V
fapetus) <ia>j<pe>;<turi<s

ioi <ied>;0

Jupitert <Jju?j<pi>;<te2i<r
mars; <ma>j<rs>;0

mercury: <me>j<cu>;<ry>;0

mimas: <mi’j<ma>;<s
mirandat <mi>j<ra>;<ndri<a
neptunet <ne2j<pt>;<unri<e
nereid; <ne>j<re>j<id>;0
oberoni <ob>j<er>j<on>;0
phobosi <ph>j;<ob>;<o8>;0

phoebe; <ph>j;<oe>j<ne>;0
pluto: <pl>3<ut>;<o
rhea: <rh>j<ea>;0
saturni <sa>;<tu>;<rnd>;0
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‘0.0.0..0‘0‘,...0
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tethyst <te>;<th>;<ys>;0
titan: <ti>;<ta>;<n
tritoni <tr>3<it>;3;<on>;0

umbriel: <um?ji<br>;<ied;<1
uranusi <ur>i;<an’>;<us>;0
venusi <ve?;<nu>;<s

pointsi .+1
br3

br2

br0

br2

br1

br0

br1 .

br0
br1
br2
br0 |
br1
br1

br3 |
br2 |
br1 |
bro |
br0 i
br3

br0
br1
bro
br0
br1
br1

br3
br1
br2
br1 |
br0 ‘
br3

br2

fppar: L+1
033;639112315518;21
24;27330;33536;39342545
48;51354;575;60;63366369
375;78;81584;87;90793

ppari ,+1

05030365015501;016;0315039 |
015;015303150313015;0;30:0 |
031;03630302250363016;03130 |

037;03;031;0317022;036;030 |

pPrsqi: ,+1 |
016;0272245;075341 |
13020000030 ‘
=07;0244122;0506362

«02;0251477;0820663
»03;0230761;0127762
»025;03203003054474
»06;03241343;0124211



»01030335416;0541570
=04;0371372;0
»06;0247430;0

0113031115030
»05;0302622;0
=02;0256475;0
07;0376733;0
«01;022153030
=02;0235142;0

=010;021726630
»011;0274361;0
0L; 036547150

»012;0227176;0
»06;0342454;50
=023;0326340;0

*013;0326265;0
»02;032377430
»053025514030
07;0263573;0
=063022317450
»025025147750

»02;023514230
=05;0223060;30
055020611530
03036240630

accli ,+1

030206436530

»023;0320324;30
»036;0227207;:0
«017;0340500;0
=0303;0210041;30
»06330341666;0

»034;0235122;0
=037;0247531;0
»031;0310316;0
w0273;0334427;0
=0413;0315203;0
»033;0303403;0

l‘l' ® ®© © & o o o o 'I’ ® ©

=030;026575230
*017;0201414;0
»026;0263753;0
»02630205241;0
=0L0; 025646650
»041;0272051;0

- i i

=04330275073;0
=034;0255345;0
»060;0341650;0
w0UU; 034155230
=0203;0307762;0

~®
2% w0
i

h‘.f
St

=033;02643712;0
=014;0233053;0
»035;0265543;0
=027;034050030
=027;0210344;0
»037;0210777;0

2 6 »017;0275653;0

=023;0252667;0

pxi o 1




0300000030
015;0620356;0
00530360005;0

010;0666214;0
0053070405350
002;034760030
0053031050630
006;0220622;0
0073031047350

Q0L4;0370065;0
0063030410130
011067663130
0063065302030
0203031720230
017;0644356;0

‘CQ‘.QOO

013;0206414;0
0053024534650
Q04;0222264;0
0233026123430
0013037222530
007;0646102;0

001;0212446;0
013;0773152;0
0243027455750
Q04022747430
020;0263122;0
004;0333254;0

0;0216672;50
0063023114230
006;021270130
023;0650051;0
016;0233751;0

®

pY: ++1

000;0000000;0
017;0664054;0
002;0662035;0
010;0350757;0
006;0334771;0

000;0267000;0

0063072677030
004;0225752;0
0063020134630
010;0247536;0
0105034327730

011;0314411;0
006;0712237;0
0215033465630
0173034232450
0163061515130
005;064425750

H 456;0
0245022406350
0125033131430
006;0640034;0
001;0200024;0
011;0243161;0

023;0772355;0
007;0644432;0
022;0726324;0
006;026074030




OV 100
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0105060021330
006;0237476;0
005;0674734;0

023;0616334;0
016;0327155;0

pwi o *+1
1B, +32+32+32

pVWE ,+1

0000;0000000;0000000
»054;0663265;0376074
»036;0743326;0460356
w043;064773050444215
=045;076724630341205

=03430745027;0221674
»036;0702670;0530661
=0343;0702340;0273047
=037;07647771;0100452
=0U1307043411;0732756
=0443071660350200021

»0503075566130517072
=035;0751602;0332677
=07230634906630300145
=05630712656;0015171
»05030701167;0507203
»03330715124;0202507

=0343066502450365605
»073;0730064;0776551
=054;0667362;0431776
=043;0775760;0312631
=030;0740613;0034530
»055;0635657;0370276

=0764;0677234;0315321
»037;061710230655555
»066;072337030773672
»035;071452630724272
»043;0667633;0402706
»040;0636053;0440472

»037;0650025;0224325
=0713;0717663;0701773
=052;0754612;0304722

’C.“..OOO.Q‘CQ.....




" space travel 7

clistp = 017
br0 = 040004

br1 = 040005
br2 = Q40006
br3 = 040007
d10: 10

‘l}__QSS 3
02462561 0246256

0253052: 0253052
0246036: 0246036
0177 0177
nplant 32

a1: 1

d20% 20

dmis =1
o141577: 0141577

01615771 0161577
016643721 0164372
o114: 0114

0207141 020714
d383; 383

dm768: =768
0145777t 0145777
0165777: 0165777
07: 7

0603 060

0o55¢ 055

053: 053

ok1: OK1
0220000: 0220000
44003 40O

dm201 =20
40004y 04OOOS

fardsti 020;0200000; O
£2pi; 03;0311037;552421
pid10t =01;0280662;756647

thrsy 02;0200000;0
£4003 011;031000030
crasht =028;0200000;0
sthetat 01;0200000;0
cthetaj 03030

fpzeroj 03030

scalet 0

vscale) 6

ascale} =1

sdphis =05;0253436;0700177
cdphit 000;0377743;0201725

‘ dhalt: 0400000

fponet 01;0200000;0

93 ,=,+t
horizvi ,=,+3
1Phsont ,=,+1
Phsinti ,=,+19

d'Pflq'_o'o‘q
pari ,=,+1
abgii ,#=,+1
absxi ,=,+3




QV.iI00
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lbl!l,.-.43
vi .=,+3
VVE ,=,%+3

SDXi ,=,+3
SPY} ,=,+3
WXi =,.+3
WYP o=,%3
tVXE J=,+3
tVyi ,=,+3

setxi ,=,+1
sety! .f,f1
narcsi .,=,+%1
nti ,=,+1
inflg: ,.=,+1
ﬂfo;ﬂ;rLf.*1 b b
dtmp1: ,=,+3 ]
dtmp2t ,=,+3
delxs: ,=,+1
delyt ,=,+1
tsetx: .=,+1
tsety: ,=,+1

accflgl ,=,+1
locpari ,=,+1
crflgt ,=,+1
rpari ,=,+3
dPlrl .-.*3
axt ,=,+3

ayid ,=,+3
maxai ,=,+3
maxii ,=,+1
dcplani ,=,+1
feplang ,=,+1
cplant ..;‘1

shipxt ,=,+3
shipyt ,=,+3
Xt ,®,+3

Yi ;'o*?

OX}i ,=,+3
OYi ,=,+3

1.“!10' |P.‘1
goflgt: .=,+1
forflgj .=,+1
bacflagl ,=,+1
sphij ,=,+3
cphii ,=,+3

gempit ,=,+3
ftmp2i 0-0*3
locflgl ,=,+3

dsetx = 0140000
dsety = 0164000

‘OQ‘OQOQOQO.‘

vecx = 0120000

vecy = 0124000

m= 02000

displist:
075057 "scale 1 intens 3 blink on ip 0 sym 0
dsetx 800

dsety 20
dispcli
0
060004 "intens 0 blink off

* -~ ot
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dsetx 0
dsety 20

namedspi

1 =+ 10
dsetx 400
dsety 20

dsscatl

1 Ee*3

040040 "scale 0

dsetx 127
dsety 250
vecx 768
dsetx 895
dsety 255
vecy 768

dsetx 895
dsety 1023
vecx m 768
dsetx 127
dsety 1023
vecy m 768

dsetx 127
dsety 255
vecx 768

dsetx 511
dsety 255

yvecy 767

dsetx 127
dsety 639 -

dspl?

0400000

yasx: 767




-




" stat
arg = 017777

lac are
dae name

‘ loopi

i lac arg 4
sad 44
s8Ys exit
tad dmy
dagc areg §
laec name
tad 44§
dac name

lav stathuf
sys status; dotdots name! ..
spa

jmp error
lay obufe=1
dae 12

lac ii

1mg

=3

jms octal
lag iflags
img

-2

jms octal
lac iuid
img

"2

ims octal
-1

tad inlks
cma

lma

=2

ims octal
lae isize
img

-5

ims octal
lag o012

dac obuf+18
lag 41

sys vritej) ebuf; 19
jmp loop

errorst
laeg name
dae 1f
lae 41 o
sys vrite; 11,.3 &
lae 41
sys write; 1£; 2
imp loep

1t 0400773 012

© 0 0 0g0 o gt e g
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octal}y 0

dag ¢
lav thuf=1
dag 3
lag ad0
dae 8
11
— laeq
and o7
tad o060
dae 8 {
1rs 3
is? ¢
jmp 1b
lac 38
dae ¢
1
lag c 1
dae 12
sad oMo
jmp octal i
-1
tad ¢
dae ¢
jmp 1b
dotdoti
0560563 O04OQLQs OLOOKLOY OLOOND

a1t 1
2% 2
433 3
dB8t 8
d14: 14
d12; 12
012: 012
0602 060
old03 04D
07% 7
asd 4
dndt =i

(of | .=.¢1

statbyf:
iflagsy ,=,%1 '
1 Eg*7
igid: ,=,#+1
inlksy ,=,+1
isize; ,=,+1
l.l*1
i1y ,=,+1

Obuf‘ 030‘19
thf: .=.*10




9




11

QWQ..‘C.‘COQQ.QQQ‘..‘C..Q

tm

SYs time
cll

ddy
216000
daec 1
laeq

cll

idiv

10

tad 060
dae huf+1
lacq :
cli; idiv; 10
tad o060
dag buf
laeq

sna

imp 1€
tad 060
alss 9
xor buf
dac buf

lac t1
cll

idiv

6

lacq

cll

idiv

10

tad 056060
dac hyf+6
lacq

cll

idiv

10

tad 060
dac buf+5
laeq

cli

idiv

6

tad 2072060
dac buf+4
laeq

cli

idiv

10

tad o060
daec byf+3
lacq

cil

idiv

6

tad 072060
dagc byf+2
lac 41

sYys write; bufi

sys exit




a1+ 1

d13: 13

a2% 2

060: 060
0500603 056060
0720608 072060
t1: O

t2: 0

buf! .=o*7; 012

.OQ....‘QQ..Q..O‘CO‘.O..









t:
main:
lac 017777 i
__sad dd
Smp 2f
sad 48
gmp 1£
lav 9
tad 017777
—fac 02 =
lav 017
sys creati0:0
dac output
18lavy 5
tad 017777
dac Of
sys openj0i0;0
dac input
spa
sYs
21
ims
imp

14

‘.

exit

advance; imp 1£f

rinterp

2f
obhuild
owrite

Otlac
ims

11lac
spa
imp
ims
las
spa
sYys exit
S8YSs save

210777

0b
oflush

"special machine language code

"pyuts out and octal strin g from symtabp entry

symoct:

lac equ

add eaubot

dac 9f+¢t
. 3xe 1%

ims tvoktabj lac 9f+t i
1182 %1 x

lac ii

dac
lac

____add
dac

21lac
ims
lac
ims
lac
and
sza
jmp

*. 0. 9. %% *§

8

8 i
symbot
9f+¢

Of+t 1
putoct
onenl
obuild
9f+t 1
0600600

"skir unless word contained eof (0777)

ggoon
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isz 9f+t

imp 2b
t=t+1
0600600:0600600




" recognition stack frame advance

advance:0
_lac frame

dac 8 >
lac advance i & L
dac 8 i
lac ii
dac 8 i

___lac ianore -1
dac 8 i
lac
dac
lac
dac 8 1§
lac frame
dac nframe 1
lac nframe
dac frame
add dffrmsz
dac nframe
dac nfranme
jms betweenj add rbetj} add rtep
ims halt
isz advance
jmp advance i

i

>N oo

retreat!
dzm Jjunk
lac gflag
sza
imp 1€
ims bundlep
dac junk
1tlac frame
dac nframe
lac frame i
dac frame
dac 8
lac 8 i
dac 3f "retrun address
lac 8 i
dac ii
lac 8 4
dac ignore
lac fflag
sna
imp
lac
dac
lac
L. tAag
21lac Jjunk
sna
ymp 3f
dac nframe 1} "stass reslis
isz nframe
3i13mp

" pundle up results and return single pointer to them in ac
" return 0 if no results

f
i "restore 3 and k on failure

i

© 0 0 0g° 0 O ° 00000y 0 g0 0 0o
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bundlep:0
lac £flag

sza vt S8 . )

imp 2f "ne results on failure
ims nframel

dac 9f+t

cma

tad nframe

cma :

dac 9f+g+1

sma

imp 2f

sad m1

jmp 3f "only one result, no bundling necessary
lac 9f+¢

tad m1

dac B8

1tlac 8 i
ims kput
isz 9f+t+1
imp 1b
lac k "make up result peinter
add l.gk
imp bundlep i

2icla
jmp bundlep i
3tlac 9f+¢t 1
jmp bundlep i

t=t+1 "where to find results
t=t+1 “"negative of result count
" the main interpreter loop

" locate original value of nframe for present stack level,
nframe0:0
ims siget) add d,ii
dac junk
lac junk i
dac junk
lac junk i
and opmask
sad l.rv
jmp 1£
lac refrsz
Jmp 2f
1tlac 3junk 4
and 017777
2tadd frame
imp nframel i

halt:0

lac 1f

jms obuild

lac halt

ims putoct

lac onenl

jms obuild

xet rstack+1
13.,+#13012077end




rinterp?
las “"trace check

and 45
sna

jl'p o3
lac bugr
ims bug

lac fflag
ral

lac ii i
and opmask
sad l,.ra
imp rera
sad l.rb
imp rerbd
szl

imp retreat
lrs 14

and o017

add rbranch
dac ,+1

imp

rbranch?
jfﬂp o*1 4
reno
rerx
rerc
rege
rerf
rerv
rera
reuu
rero
rerm
rers
rerv
reuy
reuuy
reuuy
reuy

reyu:
ims halt

rerh!
cml

rera:
dzm £flag
snl
imp goon
ims aget
dac ii
imp rinterp

backup:
lac jsav
dac j
nuts:
lavw

Q...‘..‘CC.QQQ.O‘.C.....




dac fflag

reno:

goon!
laec 11 1
isz il
and exitmask
sza
imp retreat
imp rinterp

rerv:
ims aget
add frame
dac nframe
imp goon

rerct
ims advancej} Imp goon
ims aget
dac ii
imp rinterp

gegf:
rerf!
ijms aget
add limrg
dac ,+1
jmp

rerx:
lac jJ
dac jsav
ims aget
11dac Sf+t
ims lchar
sad 0777
imp goon
dac Sf+t+1
ims getd
sad 9f+t+1
imp 2%
imp backup
21lac Sf+t
add ol400000
imp 1b
t=t+1 "address of next comparison char
t=t+1 "character itself

aget:0
lac i1 14
and 017777
imp aget i

regec:
l1ac 113
and 0757777
Xor exitmask
dac nframe i

oooo‘ooﬁoooococc‘oo’oooci




isz nframe
imp goon

kputi0
isz k
dac junk1
lac k
ims betwveen; add d40; add kmax
ims halt
add kbot
dac junk
lac junk1
dac junk 4
imp kput i

s0get:0
lac frame
xet sOget i
dac junk
lac junk 1
isz sOget
imp sO0get i

siget:0
lac frame i
Xet siget i
dac junk
lac junk i
isz siget
jmp sfiget i

sOput:0

img

lac frame

Xxct sOput i

dac junk

laca

dac junk 1

isz sOput

jmp sOput i
here is the generaion interpreter
the X table cant move while its acgtive

geno!
gaoon?
lac ii i
isz ii
and exitmask
sza
imp retreat
__ginterp:? "
las "trace check
and dé
sna
Smp .*3
lac bugg
ims bug

lac ii i
1rss 14
and o7

CVC..‘..‘...C...C‘..




add gbranch
dac ,+1

jmp

ghranch?
dmp .*+1 i
geno
gegx
geuu
gegce
gegf
gegk
gegp
gegq

geyu?
ims halt

gegxi
lac i1 1
and ok17777
ims obuild
imp ggoon

gegag:d
ijms advance} jimp ggoon
lac eny
add d4,ii
dac junk
ims aget
add junk 4
dac junk
lac junk i
dac ii
lac env
add d.env
dac junk
lac junk i
dac env
imp ginterp

gegp:
ims advance; jimp ggoon
lac eny
add d,ii
dac junk
lac frame 1
dac env
ims aget
cma

&

‘ add junk i
dac ii

. imp ginterp

.‘OOO.C...‘O.’...O

gegk:
& lac ii i
jms aget
‘ add kbot
. dac ii

Ims sOput) add d,il
lac frame




dac env
imp ginterp

gege!

ims advancej imp ggoon

ims aget

dac ii

imp ginterp
@ .
@ dac 1£+2
lac onenl
yms obyild
lac ii
ims putoct
lac ii i
lrs 14
and o017
add 1£+2
dac 1£+2
lac 1£+2 1§
dac 1£+2
lac 1f
ims obuild
1a¢c 33 1
jms putoct
las
and 4§
sza
ims halt
imp bug i

130600000 ,+1j O4O; 03 040777
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moveld 0
dac 9f+t 4 §>
lac move i
1tdac 2f%
lac 9f+¢
ims lehar
dac 9f+¢+1

ims dehar

lac 9f+t+1
sad 0777
imp 3f

lac o400000
add 9f+t¢
dac 9f+¢t
lac 0400000
add 2b

imp 1b

31isz move

lac 2b

jmp move i
t=t+1 "source address
t=t+1 "source character

lehart0
dac junk
ral
lac junk i
snl
lrs 9
and 0777
jmp lechar i

dchart0
img
lac dchar i
dac junk
spa
imp 1£
llss 9
lac 0777
imp ,+2
180777000
and junk i
omg
dac junk i
isz dehar
imp dehar i

" gets designated character from input
jgeti0
11lac j
ims chetween; add jmin; add Jmax
Smp 3jmore
cma
add jmin
cma
add jbot
iyms lchar
ims class} add ignore




jmp joet i
lac jJ
_____add olO0O0O0C
dac j

imp 1B

" read more input = filthy code, enough te make disk &
" terminal input work, Theae only deliver full count
" except at eof or 1 word

imore!
and 0377700
dac Jmin
add lisiz
dac 9f+¢
lac jmax
ims chetveen; add jminj; add Sf+t
lac jmin
dac jmax
dac 1f
cma
add jJmin
cma
add jbot
dac 2f
lac input
8YS seek
11030
L
dac 2f i
lac input
sys read
__21034siz
sna
lac 41
add jmax
dac jmax
imp Jget+1
_t=te1

» gets next character from input

gety:o
lac j
ims Jjget
dac junk

lac 3
add o#400000

dac 3
lac Junk

&
. ____S3rp gety i
&

" cempare tvo strings = assume both left justified

® | 1‘.’ ® O o | ® o | ® & o ‘l'. @ GD‘I'”D ® o o

copp:0
& dac 9f+¢
: lac comp i
dac 9f+¢£+1
isz cemp

1tlac 9f+¢ 1
sad 9f+e+1 |
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imp 3f
and 9f+t+1 { "do both start with eocf?
spa 4
2tisz comp
imp cemp i
3tand 0600600 "is there an eof?
sza
imp 2b
isz 9f+t
isz 9f+t+1
imp 1b
t=t+1 "address of string 1
t=t+1 "address of string 2

obuild:o
img
lac ovwrite
add obot
dac 2€
laca
113ims move
2:0
cma
add obot
cma
dac owrite
ims chetveen) add 40; add omax
skp
dmp obuild i

lac lochunk
jms oflush
lac obot
dac 2b

add lochunk
jmp 1b

oflushi0
dac 2f
lac obot
dac 1£f
lac output
sys write
110
210
jmp oflush i

" outputs octal string fropm Besignpated value

octal:
isz ii
lac ii 4
dac 2f
lac 1£
ims twoktab
lac 2f i

11gf geoctal x
210




lac

lac
ims
imp

dac
lac
ims

-6
dac

1tlac
cll
irs
add
dac
lls
dac
lac
., sza
imp
lac
sad
imp
2tlac
ims
lav
dac
3tisz
imp
imp
IS VLT R
t=t+1
t=t+1

eof!
lac
dac
ims
sad
____3mp
imp

dac

sza
mp
lls
xct
isz
dac

e o QC.C & ‘.. ® O o o .Q'Q ... ® o o

- _ize

" conv

- dzm

geoctal:

ii

erts word in ac inte ocatl on oytput Streap

putect:0

9f+e
7f
obuild
Sf+e+2

Gf+e+1
S9f+t

15

060

Bf+1

18

Sf+t

Of+¢+2 "have nonzero digits been seen?

2f

BEf+1 "no,is this nonZero?
060

3f "ne

8f

obyild

Sf+t+2

Sf+e+1

1b

putoct {
"value to convert
"digit count
"nonzero digit flag

7t .+13 060777
830400000 ,*+1j0jend

3

jsav
joget
0777
goon
backup

classiO

Junk1

1rss 7

2f

3

class i
class
junk
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cla

llss U

add l|llSS
dac 1f£

lac junk 1%
1tllss

spa
2i1isz class

lac junk1

imp class i




" put symbuf symbel inte table { [

table:
lac eguwrite e 4 A
dac equ
jms betwveen; add d0; add egumax
ims halt
add delta
dac egquwrite

___lac equ

add equbot
tad m1
dac 8
lac symvwrite
dac 8 i
add symbot
dac 2f
lac mdelta

1tdem 8 4
tad 41
spa
imp 1D
lac sbhbhot
ims move

230
add o400000
cma

add symbot
cma
add o400000
and 017777
dac symvrite
jms betveen; add d40; add symmax
ims halt
imp goon

£ind occurrence of symbuf symbol in equtab

prev:
lac egqu
dmp find+1
find:
lac eguvrite
dac 9f+t
lac 0777
ims sbput
lac shbot
dac 2f
13lac Sf+t
tad mdelta
dac 9f+¢
spa
imp nuts
add equbot
dac junk
lac junk i
add symbot
____4ms comp
210
jmp 1b
lac 9f+¢
dac equ

® o 0 0ge 0 0g0 0 0 0 000 0 p e ege s 0 0
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jmp goon
t=t+1 "next eaqutadb location ¥o test

shputt0
1mg
lac shwrite
add sbhbhot
dac 1£f
lacg
ims dchar
130
lac sbvrite
add ol400000
dac shvrite
ims chetween; add d0; add sgbmax
ims halt
jmp sbput i

getname?
lac equ
add equbot
dac 9f+t
lac 1£
ims twoktab) lac 9f+t i

11gf . *+1 x
lac ii
dac 8
lac 8 {
add symbot
and 017777
ims obhuild

imp ggoen
t=t+1 "equtable entry

" puts double word entries in ktab and gives
"pointer to first as result

tvoktabi0
ims kput
lac 1,9k
add k

dac nframpe i
isz nfranme
xct twoktab i
ims kput
imp goon




char!
lac
dac

ims
jmp

ELER T
ims

imp
jmp

ims
imp
ims
lac
add
dac
isz
imp

mark:
ims
dzm
jmp

isz
ims
ims
ims
dac
imp

1tlac
add
dac
sad
imp
dac
lac
dac
ims
imp

2tlac
dac

_add
dac

dzm
ymp

3iims

dac
jmp

ims

e o o O‘C @ ‘QQ ® o .’. @ O".

T |

_isz ii s

ctest

imp backup

goon

string!

ii

ctest
goon
string+1

ctesti0
ims

joet

class; add ii i
ctest i

shput

3

od400000

-

ctest

ctest i

joget
sbvwrite
goon

parsedo?

ii

advance) imp 3f
advance; imp 1f
aget

ii

rinterp

frame

refrsz

ii

nframe

retreat

gflag

gefrsz

dffrmsz ;
advancej; 3imp 2f
ginterp

refrsz
dffrmsz
frame
nframe
gflag
retreat

sO0get) add d,k
K
goon

bundle:?

bundlep



dac 9f+t

sna

imp goon

ims nframel

dac nframe

lac 9f+t

dac nframe i

isz nframe

_3imp goon
t=t+1

" jms betweenjadd aj; add b}y skip if ac<=ac<b

betveeni0
dac 9f+t
cma
xct between i
isz betwveen
sma
imp 1£
lac 9f+t
cma
xct between i
isz between
sma
184sz betveen
lac 9f+¢
jmp betwveen
t=t+0 "shared with next teMporary

" +4ms cbetveen; add a; add b; skip if admac<b where ac
” contains & character address

chetween:0
dac 9f+t
cma
xct chetwveen i
isz chetveen
ral
sma
jmp 1£
lac 9f+¢t
cma
xct chetween 1
isz chetween
ral
sma
1118z chetveen
lac 9f+¢
jmp chetwveen i
t=t+1 "ac contents
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rerms
ims aget
imp 1£
L LT e
ims aget
add frame
13dac holdlv
lac holdlv i
jmp
rervi
ims
1lls
Ilrs
2idac
isz nframe
—_ _9n9 goown -

rero!
ims decnf
dac rand1
ims aget
and 077
add obranch
dac 2f
cma
tad unary
spa
—Snp 15
9ms decnf
dac rand2
1tlac rand1
2ixct
imp result

obranch:
xct +1
opr jop=0400000+1
imp rorel jle=opjop=op+1
imp rorel jne=opjiop=op+1
___3mp rorel jlt=opjop=op+l
jmp rorel jge=opiop=op+]
imp rorel jeg=opjiop=op+1
imp rorel igt=opiop=op+1
tad rand2 jad=opjop=op+1
jms sub jsh=cpiop=op+1
and rand2 jan=opjop=op*1 =
imp roor jor=opiop=op+1
xor rand2 jxo=opjop=op+i
imp rosr jsr=opjop=op+1
ymp rosl jsl=opjop=op+1
jmp romn imn=opjop=op+1
_4mp romx  jmx=ocpjop=op*1 =
lac ranéd2 jas=opjop=op+1

|
|

®
s

|
|
|

opr jpl=opiop=op+1

jmp romi jmi=opiop=op+1

cma jcm=cpjop=op+1

' 4mp roindirjindir=opjop=op+1
lac holdlv jaddr=opjop=op+1

unaryixct obranch+1+pl

rorel! "¢= 001

“ » . -
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ims
sna
mp
spa
imp
lac
imp
1tlac

2%add

3iand
sza
-1
cma
imp

sub10
cma
tad
cma
imp

roor:
1mg
lac
omg
jmp

rosr:
lac
add
cll
jmp

rosl:
lac
add
clg

1tdac
lac
0
jmp

romn:
jms
cma
_dmp
romx?
ims
ral
lac
szl
lac
imp

romi:
cma
tad
imp

sub

2f

£

d’ "
3f

d2 "
d2 "
. 0 o8 ¢

result

rand2

subp 1

rand2
result
rand?2
l.lrs
1£

rand?2
l.11s

o *2
randi

result

sub
' *2
sub
randf

rand?2
result

d1
result

roindir:

dac

holdly

"i= 010
"¢ 011
">= 100
"= 101
3 110

a>b, code 001

a<b, code 100
asb, code 010

lac heldlyv i




jmp result

result:
dac junk
dac nframe i
isz nframe
i8¢ 11 13
and stbhit
sna
jmp exprtest
lac Jjunk
dac holdlv 1
lac ii i
and fibit
sSza
ims decnf
imp goon

exprtest:
lac ii 1
and fipit
sna
jmp goon
jms decnf
lac nframe i
sza
-1
cma
dac fflag
Smp goon

decnf:0
-1
tad nframe
dac nframe
lac nframe i
jmp decnf i

.0.0..0‘.00.000.’0.‘..0.
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2y '8

91,=,+t

end = =1
no
rx
re
rt
rf

0000000
0040000;
0100000
0140000;
0200000;
02400003
ra = 0300000;
rh
ro
rm
rs

0400000
0440000
0500000
0540000,

limpidmp
l.1l1ss:llss
l,lrstlrs

1.11s:lls

l,raira
l.th:rb
lv.rk'trw
l;gk:qk
l.gextge x

x = 020000

st = 0100

£1i = 0200
opmask:0740000
exitmask: x

m130=1
d0:00:0
d1:e01i1
d2:02:2
d3:03:3
dhtobiy
d580515
d6:0616
d7:07:7
d8:o010:8
asciispiOu0
asciinl:012
nl:012777
onenlinl

bugri,+1;<rn23<rx2;<re2i<rt2§<rf>;<rw2j<ra>j<rh>

gx

gc
gf
gk
an

rx

rt
rf
ry
ra

0340000;4q = rb

<ro>;<rm>1<rs>;<rv>

buges,+1;<gn>j<ax>;<gz>;<ac?j<gf>j<gk?j<gp>i<aqg>

01731017
0603060
0772077
0777:0777

0417777:0417777

o400000:040000

5

o740000:0740000

©377700:037770
0177773017777

0




0757777:0757777
0600600:0600600

e o o ib‘l’Il CD‘ 1‘., @ | ® o | ® o | ® o | ® ‘l" ® ©

stbitist

Junk:0
Junk 130

output:i
input:0

fibitifi
heldlv:0
rand1:0
rand2:0

symvrite:0
symbot: symtabd
symsiz = 500
symmaxisymsiz

equwrite: 0
equread: 0

equ = eaquread
equboti: equtabd
egusiz = 500
egumax: egusiz
delta: 2
mdeltai:0=2

shsiz=50
sbmaxishsiz
sbvrite:l =
shbot!sbbusf

fflagt0
gflag:0
ignore:.+1;04000003;0;0;0305030;4

_frameirstack

nframesirstack+6
eny = ignore
d,ii = 42
d.,env = 43
d,blkmod = d3
d,j = db

d,x = d5
dffrmszib
framsizii
refrsz = db
gefrsz = dl

41: start

k10

rsiz = 500
rmax: rsiz
rbotirstack
rtopirstack+rsiz

owrite:0
obotiobuf
osiz=64




omax:osiz
oehunk=64
lochunkiochunk

jsaviO
jread:0

30

jmin:i0

jmax:0

jsiz = 64
l9siztisiz
migizi=dsiz~=1
jbotidbuf

ksiz = 200
kmaxiksiz
kbotiktab

equtab:,=,+equsiz
rstacki: .=, +rsiz

WS4 *8 "overflow protection
obufi,=,+osiz+ochunk+ochunk
sbbuf!,=,+sbhsiz
jbufi,.=,+isiz+1
symtahi,.=,+symsiz

ktab: .=o+kSiZ
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op,S is the op code defination f£ile
for the assembler
ne iot ops are defined

:_smgm, cal entries are defined

e &

|

& dac = 0040000
ims = 0100000
dzm = 0140000
@ lac = 0200000
. _xor = 0240000
add = 0300000
L] tad = 0340000
xet = 0400000
isz = Q440000
D and = 0500000
___sad = 0540000
imp = 0600000
‘ eae = 0640000
1 = 020000
opr = 0740000
& lav = opr i
__cma = opr 1
cml = opr 2
@ ral = opr 010
rar = opr 020
sma = opr 0100
& sza = opr 0200
__8nl = opr 040C i u
skp = opr 01000
@ spa = opr 01100
sna = opr 01200
szl = opr 01400
i cll = opr 04000
__¢cla = opr 010000
las = opr 010004
S irs = eae 0500
lrss = i 1lrs
lls = eae 0600
o l1l1ss = 1 1lls
___als = eze 0700
alss = i als
2 lacg = eae 01002
lacs = eae 01001
’ clg = eae 010000
omg = eae 2
___Ccmg = egg,g s e
img = eae 0120
@
sys = 4
save = 1
& open = 3
'__:g@d (& 5 o
vrite = 5
creat = 6
seek = 7
close = 9
exit = 14
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" ottti,

t =0
lag
tad
dae
lae
sad
skp
jmp
dae
lay
dae
dae
ims
lay
5YS
lay
sys
tad
daec
lay
SYS
dac
dzm

loopi
ims
ims
lag
dae
lav
daec
ims
ims

unvwindi}
lae
dae

—
R

lae
ims
-1
tad
dae
lae
spa
jmp
ims
-1
tad
dac
lag
sna
Jmp
ims
sza
jmp
ims
sna
imp
imp
t = t#*1

Q'...‘..‘......O.‘.O’..O.

S

017777
i1
Ifet
Ifet 4
qds¢

loep
igspflyg
sbuf=1
blk1
blk2
dshoard
dbyf
capt

16
sysloc
d1
lpadr
13
sysloc
pbadr
lpadr §

rove
nust} smp loop
imaxin

raxin

stack=1

10

try; imp unwind
heur; imp loop

12
If+t

9fst i
ravki 1

If+t

Ifet
If+t 4
done
mark} 512

If+t
If+t
dspflg

1b
getph

0'2
getpb

=2
1b



lac
sza
imp
ims
dzm

-
-

ims
sad
imp
tad
spa
imp
dag
and
sad
skp
imp
laec

Xor
dag

imp

-
..

lae
spa
Jmp
and
sad
skp
jmp
tad
dae
lae
sza
imp
laec
ims
imp

ims
s5za
imp
lac
sna
inp

‘ ~1phitd
®

1mg
lac
sna
jmp
cma
tad
cma

00‘00000000‘00.00100

!

tad
dac
lae

~ meves O

dspflyg
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